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Ipenucnosue

VYyeObHoe mocobue nperHa3HAYeHO [Jisi KypCaHTOB, OOYyYarollUXcsl 0
HarnpaBiieHuio moaroroBku 38.03.02 — Menemxment, npoduib oOpa3oBaTeIbLHON
nporpamMmbl « TrITIOBOE 0OECTICUeHHE OPTaHOB BHYTPEHHUX JIET.

[lens yueOHOTO mMOCOOHS — CHOPMHPOBATH y KYypPCAHTOB HABBIK AKTUBHOTO
BJIAJICHUSI QHTJIUMCKUM SI3BIKOM, & TAKXKE CIOCOOHOCTh M TOTOBHOCTB BECTHU JTUCKYCCHIO.

B mnocobue BkmOueHBI TEeMBbI «JTallbl Pa3BUTHS SKOHOMUKH B Poccumy,
«OcOo0EHHOCTH COBPEMEHHOM TMpPEANpPUHUMATENICKON JiesiTellbHOCTH B Poccumy,
«3HaueHne OroKeTa B COBPEMEHHOM IOCy1apCTBey, «BeneHne ToKkyMeHTOB (hMHAHCOBOM
OTYETHOCTA B ThUIOBBIX mnoapazaencHusix MBJI[ Poccum», «MBJ[ Poccun kak
TOCYJAPCTBEHHBIN 3aKa34uK IIPU MPOBEICHUM TOProwy», «Mecrto Poccun B cucreme
MEXTyHAPOIHOW TOPrOBIINY, TECTHI U BOIPOCHI JUIsl CAMOKOHTPOJISL 3HAHW M YMEHUH, a
TaKXe TEKCThI AJIs1 TOMOTHUTEIBHOTO YTEHHUSL.

Jlekcuka KakJI0ro TEKCTa 3aKpeIlIIeTCs B Pa3HOOOPa3HBIX KOMMYHUKATHBHBIX
U peueBbIX ynpakHeHUsAX. [IpennmaraeMble 3alaHusl CTUMYJIHPYIOT NPOAYKTHUBHYIO
MOHOJIOTUYECKYI0O M JHAJIOTHYECKYI0 pedb, MOOYXKIAIOT CiyliaTelied K OOMEeHY
uHdopmarmeit.  Kaxnapli  paszmen  SBASETCS  JIOTUYECKUM  MPOJIOJDKCHHUEM
IpeAbIIYIIEro, HO P HEOOXOUMOCTH MOXKET OBITh UCIIOJIL30BAH CAMOCTOSITEILHO.

B mporiecce paGoThI ¢ SA3BIKOBBIM MaTE€pUaIOM OCHOBHOE BHUMAHUE YICISACTCS
00O0raiieHnio JeKCUYECKOro 3amaca 3a CYeT HU3Y4YeHHUS TEePMHUHOJIOTMYECKUX MU
COMYTCTBYIOIIUX JICKCUYECKUX EIUHUI] OOIIeHayYHOro © (yHKIHOHATHHOTO
xapakTtepa, HauOojee YacTO MNPHUMEHSAEMBIX B 00JacTU paccieloBaHus U
MPEIOTBPALICHUA NOpecTyIuieHni. JUIsl 3aKkperuieHus: rpaMMaTUYeCKOro MaTrepuaia
IpeArnoJiaraeTcsi MOBTOPEHUE, YIIyOJIeHUE U CUCTeMaTU3allusl U3yUYeHHBIX B paMKax
00111e00pa30BaTEeNbHOTO CTaHAAPTa TPAMMATHUYECKUX CTPYKTYP B LESIX aKTUBU3AINH
HAaBBIKOB U YMEHUU CTPYKTYPHO-CEMAHTHYECKOTO aHaim3a MpodheccHoHaIbHO
OPUEHTUPOBAHHOTO TEKCTa, a TaK)KE MCIOJIb30BaHUS TPaMMaTHYECKUX SIBICHUN B

MHOSI3bIYHON MTPO(PECCUOHATTEHON KOMMYHUKALIMH.



Pekomenoayuu Kypcanmam 01: yCneutHo20 yce0eHus yuedH020 mamepuana

L. Pexomenoauuu no ooueit «cmpamezuu» u «MaKkmuke) YmeHus

1. BaymaiiTech B 3arojioBOK: BO3MOKHO, OH IMOJICKa)KET BaM, O YEM TEKCT.

2. Ilpouutaiite 6€rjio BeCh TEKCT WJIM €T0 3aKOHUYEHHBIA OTPBHIBOK, YTOOBI
COCTaBUTH OOIIEE MPEJCTABICHUE O €r0 COAECPKaHUU. ITO TOMOXKET B MOCIEAYIOIIEM
IIPU YTCHUU TIPEOI0IETh TPYAHOCTH.

3. IIpu BcTpeue C HE3HAKOMBIM CJIOBOM HE OCTAHABIMBAWTECH. JlanbHEWIIMI
KOHTEKCT MOJKET BHECTH SCHOCTh B IOHMMaHWEe ero 3HaueHusa. CrapaiiTech
UCIIOJIb30BaTh CBOM 3HAHUS (PAKTOB, COOBITUM JACHCTBUTEIBHOCTH, O KOTOPBIX
YIOMHUHAETCS B TEKCTE.

4. ITocTapaiiTech JorafaThCs O 3HAYCHHUH CJIOBA. SI3bIKOBAs J10rajika BO3MOYKHA,
€CJIM HE3HAKOMOE CJIOBO:

— HANOMHUHAET IO CBOEMY 3BYYaHHIO WM rpadudeckoMy o0pa3y CIOBO
POIHOTO A3bIKa;

— COCTOMT M3 3HAKOMBIX CJIOBOOOPA30BaATEIbHBIX dJIEMECHTOB;

— OTHOCHUTCS K MHTEpPHAIMOHAJILHBIM CIIOBaM;

— BKJIFOYEHO B CJIOBOCOYETAHUE, DJIEMEHTHI KOTOPOTO BaM U3BECTHHI.

5. CnoBa, 3HaY€HHE KOTOPHIX HE YAAJI0Ch YCTAaHOBUTH, HAAUTE B ciioBape. s
3TOTO HEOOXOIUMO:

— 3HaTh yCJIOBHBIC 0003HAUCHHMS, IPUHSATHIC B CIIOBape (OHU JIAalOTCS B Havdajle
JT1000r0 CII0Baps), U €ro CTPYKTYPY;

— YCBOMWTH IPAaBUJIA PACIIOJIOKEHHUS CJIOB B CIOBAPE;

— YMETh IIPUJIATh CIOBY UCXOAHYIO CIOBapHYIO (hOpMY, OTTAIKUBASCh OT €T0
MIPOU3BOTHON KOHTEKCTHOU (DOPMBI;

- BBI6paTI) HYKHOC 3HAYCHUC, ITIPOBCPUTH €T'0 COOTBCTCTBHUC TCKCTY.



I1. Pexomenoayuu onsa camocmoamenbHoll ROO20MOBKU
MOHONI02UYECKO20 8bICKA3bIBAHUA

1. IlpencraBbte, 0 4emM Bbl OyJeT€ TOBOPUTh, U COCTABbTE IUIAH CBOETO
BBICKA3bIBaHUS.

2. IIpounTaiite TEKCT (TEKCThI) HA HY)KHYIO BaM TEMY.

3. Beigenure u3 TekcTa (TEKCTOB) Marepuall: CJIOBa, CJIOBOCOYETAHMS,
NIPEJIOKEHUS, HY>KHBIE JUIS BAIIETO BBICKa3bIBAHUS;, COOTHECUTE €0 C MMyHKTaMH TUIaHa.

4. BcnoMHHTE, Kako# €Ile sI3bIKOBOM MaTepuai Bbl CMOYKETE MCIIOJIb30BaTh B
CBOEM BBICKA3bIBAHUH, 3AMMUIIUTE €TO.

5. Caenaiite mpeoOpa3oBaHus, HEOOXOIUMBIE JIJIs TIepeIauu 3aMbICa.

II1. Pexomenoauuu 011 camocmosameibHOll ROO20MOBKU
YCHMHO20 8bICKA3bI6AHUA HA OCHOGE ONOP

1. [IpeacraBbTe, 4TO BBl XOTUTE CKa3aTh IO JAHHOW TEME/CUTYyallMH, |
CIUIAaHUPYHTE CBOE BHICKA3bIBAaHUE.

2. llogbepute K KakaAOMy ITyHKTY IIJJaHA COOTBETCTBYIOIIME SI3BIKOBBIC
CpEICTBA: CJI0BA, CJIOBOCOYETAHUS, MIPEIOXKEHUS U3 IAHHBIX B YYEOHHUKE U 110 MaMSITH.

3. CKOMOMHUPYWUTE 3TOT MaTepHa Jyisl Mepeiaud CBOEro 3ambicia (IIOMHUTE
IIPU 3TOM O BPEMEHHU, JIUIIE, YUCIIE U T. 11.).

4. IlpencraBpTe ceOe KOHKPETHBIX CIylIaTeNned M, oOpamasch K HUM,

IMPON3HECUTEC CBOC BbICKA3bIBAHKC.

IV. Pexomenoayuu 011 6b1n0JHEHUA T1EKCUKO-2DAMMAMUYECKUX YRPAIHCHEH UL
1. IIpounTaiite 3aganue.
2. Ecnu 3aganue npeamnoiaraeT MoJICTAHOBKY WJIM OTBET Ha BONPOC, YTOUHUTE
3Ha4YeHUE TPEOYEMOro SI3bIKOBOTO KIIHIIIE.
3. YcranoBuTe ero rpaMmmatuyeckue Gopmbl, 00paTUTe BHUMAHHUE Ha TTOPSIIOK
cioB (oOpaTuTeCh K CIOBApIO M IPAaMMATHUUYECKOMY CIIPABOYHUKY).
4. ITucbMeHHO BCTaBbTE JAHHOE SI3BIKOBOE KIIMILIE B MpPEAJIOkKEHUE (WU B

OTBET Ha BOIPOC), MPHUJIaB €My CHadaja COOTBETCTBYIOIIYIO IIPOU3BOIHYIO (popMy.



UNIT 1. Stages of economic development in modern Russia.
Lesson 1.

1. New words to memorize

Output target [IeJICBBIC ITOKA3aTEIM MO pe3yIbTaTaM
To refine YCOBEPILIECHCTBOBATD
To exceed the plan NEPEBBINOIHUTD IJIaH

Respective geographical areas  cooTBeTCTBYIOIIME TeorpaPuIecKue paioHbl

Intermediate goods IIPOMEKYTOUHBIE TOBAPbI
Allocation functions (GyHKUMH pacrpeeneHus
Livestock JIOMAIITHUHA CKOT

To encourage waste MOOLIPSTH PACTOYUTEIHCTBO

2. Read the text, divide it into logical parts. Title each of them.

For about 69 years, the Russian economy and that of the rest of the Soviet
Union operated on the basis of a centrally planned economy, with a state control
over virtually all means of production and over investment, production, and
consumption decisions throughout the economy. Economic policy was made
according to directives from the Communist Party, which controlled all aspects of

economic activity.

Five-year plan and annual plans were the chief mechanisms the Soviet
government used to translate economic policies into programs. According to those
policies, the State Planning Committee (Gosudarstvennyy planovyy komitet—

Gosplan) formulated countrywide output targets for stipulated planning periods.

Regional planning bodies then refined these targets for economic units such
as state industrial enterprises and state farms (sovkhozy; sing., sovkhoz) and
collective farms (kolkhozy; sing., kolkhoz), each of which had its own specific

output plan.

Central planning operated on the assumption that if each unit met or

exceeded its plan, then demand and supply would balance.



The government's role was to ensure that the plans were fulfilled.
Responsibility for production flowed from the top down. At the national level,
some seventy government ministries and state committees, each responsible for a
production sector or subsector, supervised the economic production activities of
units within their areas of responsibility. Regional ministerial bodies reported to
the national-level ministries and controlled economic units in their respective
geographical areas. The plans incorporated output targets for raw materials and
intermediate goods as well as final goods and services. In theory, but not in
practice, the central planning system ensured a balance among the sectors
throughout the economy. Under central planning, the state performed the
allocation functions that prices perform in a market system. In the Soviet
economy, prices were an accounting mechanism only. The government
established prices for all goods and services based on the role of the product in
the plan and on other noneconomic criteria. This pricing system produced
anomalies. For example, the price of bread, a traditional staple of the Russian diet,
was below the cost of the wheat used to produce it. In some cases, farmers fed
their livestock bread rather than grain because bread cost less. In another example,
rental fees for apartments were set very low to achieve social equity, yet housing
was in extremely short supply. Soviet industries obtained raw materials such as

oil, natural gas, and coal at prices below world market levels, encouraging waste.

3. Answer the questions

1. What basis did the Soviet Union economy operate on?

2. What directives was economic policy made according to?

3. What were the chief mechanisms of the Soviet government?
4. What assumption did Central planning operate on?

5. What does responsibility for production from the top-down mean?

7



6. Did the central planning system ensure a balance among the sectors throughout

the economy in practice?

7. Did the state or prices in a market system perform the allocation functions in

the Soviet Union economy?
8. What are the examples of state pricing system anomalies?
4. Give Russian equivalents.

all means of production; investment, production, and consumption decisions; to
translate economic policies into programs; output targets; on the assumption;
demand and supply; flow from the top down; economic production activities;
areas of responsibility; ensure a balance; a traditional staple; fed their livestock

bread; to achieve social equity;

5. Give English equivalents: o6ecrieunTs OajlaHC; NMPOXOJIUTHh CBEPXY BHU3;
TPAAUIMOHHBIA TPOJYKT TMHUTAHUS, HSKOHOMHYECKas MPOU3BOJACTBEHHAS
NeSITeTbHOCTh, KOPMHUJIU CBOM CKOT XJIEOOM; ISl JTOCTMDKCHHS COIUAIbHOM
CIIPaBEJIMBOCTH; BOIUIOMIATh JIKOHOMUYECKYIO TMOJUTUKY B MPOTPaAMMBbI;
1EeJIeBbIE TOKA3aTeIu MO pe3yiabTaTaM; MCXOAS W3 MPEANOJ0XKEHUs; CIpPOC U

PEJIOKEHNUE;
6. Read the statements. Find out whether they are true or false. Correct the

false ones.

1. The Russian economy never operated on the basis of a centrally planned

economy
2. The Communist Party controlled all aspects of economic activity.
3. Ten-year plan was the chief mechanism the Soviet government used.

4. State Planning Committee formulated world output targets.



5. Regional ministerial bodies reported to the national-level ministries and

controlled economic units in their respective geographical areas.

6. The central planning system ensured a balance among the sectors throughout

the economy in practice.

7. Under central planning prices in a market system performed the allocation

functions.

8. The government established prices for all goods and services based on

economic criteria.

9. Rental fees for apartments were set very high in the Soviet Union.

10. Soviet industries obtained raw materials such as oil, natural gas, and coal at

prices above world market levels.

7. Match the statements with the definitions.

1. a state control over virtually all means of production
2. the act of using money to earn more money

3. something that you are trying to do or achieve

4. the amount of something that is available to be used

5. a strong need for something

6. to divide and give out (something) for a special reason

A. supply; B. demand; C. allocation; D. investment; E. centrally planned

economy; F. target;
8. Complete the sentences with a proper word.

fed, incorporated, planned, refined, controlled, exceeded, flowed, reported,

fulfilled, produced

1.For about 69 years the Russian economy operated on the basis of a centrally ...

cconomy



2. The Communist Party... all aspects of economic activity

3. Regional planning bodies ... the targets for economic units

4. If each unit met ... or its plan, then demand and supply would balance.
5. The government's role was to ensure that the plans were.

6. Responsibility for production ... from the top down.

7. Regional ministerial bodies ... to the national-level ministries and controlled

economic

8. The plans ... output targets for raw materials and intermediate goods
9. This pricing system ... anomalies.

10. Farmers ... their livestock bread rather than grain

9. Read and reproduce the dialogue.

A. - You know I started studying some items about the Russian economy and that
of the rest of the Soviet Union at the last lesson. I picked up a lot of interesting
facts about that period while making the report. My teacher encouraged me and

told my report was excellent.

B.—Really? Sounds great. I'm sure you'll help me with my homework to the next

lesson. Could you tell me what basis the Soviet Union economy operated on.

A. - Don’t you know, for about 69 years, the Russian economy and that of the rest
of the Soviet Union operated on the basis of a centrally planned economy, with a
state control over virtually all means of production and over investment,

production, and consumption decisions throughout the economy
B. I see... Planning was an important item, wasn't it?

A.-You are quite right. Five-year plan and annual plans were the chief

mechanisms the Soviet government used to translate economic policies into

10



programs. Central planning operated on the assumption that if each unit met or

exceeded its plan, then demand and supply would balance.

B.-And what was the government's role? Was there responsibility for production

flow from the top-down?

A.-You know, the government established prices for all goods and services based
on the role of the product in the plan and on other noneconomic criteria. This

pricing system produced anomalies.
B. Thanks a lot for the help. I hope I'll get an excellent mark
A. So do I. Good luck!

10. Retell the text in brief

Lesson 2

1. New words to memorize

To implant basic tenets BHEJIPATh OCHOBHBIE TPUHIIUIIBI
market-determined prices LIEHBI, OIIPEIeIIIEMble PHIHKOM

to implement policy MPOBOJUTH MOJUTUKY

fiscal and monetary dbucKkaabHas U ICHS)KHO-KPEAUTHAS
stable prices and exchange rates cTaOWJIbHBIC IICHBI 1 OOMEHHBIE KYPChI
responsibility for settling debts OTBETCTBEHHOCTbD 3a TOTallIeHHE J0JITrOB
dilapidated MOJTypa3pyLEeHHbII

2. Read the text to find out the main economic goals during the period of the

transition from central planning to a market-based economy.

11



After 1991, under the leadership of Boris Yeltsin, the country made a
significant turn toward developing a market economy by implanting basic tenets
such as market-determined prices. Two fundamental and interdependent goals —
macroeconomic stabilization and economic restructuring — the transition from
central planning to a market-based economy. The former entailed implementing
fiscal and monetary policies that promote economic growth in an environment of
stable prices and exchange rates. The latter required establishing the commercial,
and institutional entities — banks, private property, and commercial legal codes—
that permit the economy to operate efficiently. Opening domestic markets
to foreign trade and investment, thus linking the economy with the rest of the
world, was an important aid in reaching these goals. The Gorbachev regime failed
to address these fundamental goals. At the time of the Soviet Union's demise, the
Yeltsin government of the Russian Republic had begun to attack the problems of
macroeconomic stabilization and economic restructuring. By mid-1996, the

results were mixed.

Since collapse of the Soviet Union in 1991, Russia has tried to develop
a market economy and achieve consistent economic growth. In October 1991,
Yeltsin announced that Russia would proceed with radical, market-oriented
reform along the lines of "shock therapy". Hyperinflation resulted from the
removal of Soviet price controls and again following the 1998 Russian financial
crisis. Assuming the role as the continuing legal personality of the Soviet Union,
Russia took up the responsibility for settling the USSR's external debts, even
though its population made up just half of the population of the USSR at the time

of 1ts dissolution.

The Russian GDP contracted was estimated 40% between 1991 and 1998,
despite the country's wealth of natural resources, its well-educated population,

and its diverse — although increasingly dilapidated — industrial base.

Such a figure may be misleading, however, since much of the Soviet

Union's GDP was military spending and the production of goods for which there

12



was little demand. The discontinuation of much of that wasteful spending created

the false impression of larger than actual economic contraction.

Critical elements such as privatization of state enterprises and extensive
foreign investment were rushed into place in the first few years of the post-Soviet
period. But other fundamental parts of the economic infrastructure, such
as commercial banking and authoritative, comprehensive commercial laws, were
absent or only partly in place by 1996. Although by the mid-1990s a return to
Soviet-era central planning seemed unlikely, the configuration of the post-

transition economy remained unpredictable.

3. Answer the questions.

1. What turn did the country make after 1991?

2. What were the main goals in that period?

3. What did promoting economic growth require?
4. What was an important aid in reaching the goals?
5. What did Yeltsin announce in October 19917

6. What did hyperinflation result from?

7. Russia took up the responsibility for settling the USSR's external debts, didn't

it?

8. Was the Russian GDP contract estimated 40% or 10% between 1991 and 1998?
9. What created the false impression of larger than actual economic contraction?
10. Comprehensive commercial laws were absent at that period, weren't they?

4. Give Russian equivalents. Write down your own examples with them.

13



under the leadership of, a significant turn toward, by implanting basic tenets, the
transition from central planning to a market-based economy, fiscal and monetary
policies, promote economic growth, establish the commercial and institutional
entities, an important aid, achieve economic growth, responsibility for settling the

debts, wasteful spending, remain unpredictable

5. Complete the sentences with the proper word.
wealth, resulted, responsibility, market, growth, reaching, achieve, contracted
1. The country made a significant turn toward developing a ... economy

2. The economic ... required establishing the commercial, and institutional

entities

3. Opening domestic markets to foreign trade and investment was an important

aid in ... these goals

4. Russia has tried to develop a market economy and ... consistent economic

growth
5. Hyperinflation ... from the removal of Soviet price controls
6. Russia took up the ... for settling the USSR's external debts

7. The Russian GDP ... an estimated 40% between 1991 and 1998

8. Despite the country's ... of natural resources, its well-educated population, and
its diverse industrial base the configuration of the post-transition economy

remained unpredictable.
6. Ask all possible questions to find out the problems of the transition period.

7. Read the statements. Find out whether they are true or false. Correct the

false ones.

1. The country made a significant turn toward developing a market economy

under the leadership of Boris Yeltsin.

14



2. The main goals were microeconomic stabilization and economic restructuring.
3. Stable prices and exchange rates always promote economic growth.

4. Establishing the commercial, and institutional entities never permit the

economy to operate efficiently.

5. Closing domestic markets to foreign trade and investment was an important

aid in reaching the goals of developing a market economy.

6. The Yeltsin government of the Russian Republic began to attack the problems

of macroeconomic stabilization and economic restructuring.

7. In May1991, Yeltsin announced that Russia would proceed with radical,

market-oriented reform along the lines of "shock therapy".

8. Russian population made up a quarter of the population of the USSR at the time

of its dissolution.

9. Russia took up the responsibility for settling the USSR's external debts.
10. The configuration of the post-transition economy was quite predictable.

8. You are going to take part in the discussion. Use the sentences above to
speak about the problems of Russian economy since 1991. Agree or disagree

with your opponent.
9. Translate into English.

Crpana cpaenajia 3HAaYUTENbHBIA TOBOPOT K PA3BUTHI0 PHIHOYHOM
skoHOMUKU B 1991 romy. MakposkoHOMHUYECKasi cTaOMIM3anus Mperoiaraia
NPOBEJCHUE  HAJNOTOBO-OIO/DKETHONM M JICHEKHO-KPEAUTHOH  TOJUTHKH,
CIOCOOCTBYIOIIEH IKOHOMHYECKOMY POCTY B YCJIOBHUSIX CTaOWJIBHBIX IIEH H
OOMEHHBIX KypCOB. PecTpyKTypuzauusi 3KOHOMHKUA TpeOoBajia CO3JaHUs
KOMMEpPUYECKUX U HUHCTUTYLUHOHAJIBHBIX CTPYKTYp — OaHKOB, 4YacTHOM
COOCTBEHHOCTU U KOMMEPUYECKHUX MPABOBBIX KOJEKCOB, — KOTOPBIE MMO3BOJISIOT
KOHOMUKE I(P(PEKTUBHO (PyHKIMOHUPOBATh. OTKPHITHE BHYTPEHHHX PBHIHKOB

JJIsL BHEIIIHEH TOProBjin H HHBGCTHHHﬁ, CBA3BIBAIOIICC TaKHMM o6pa30M
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HKOHOMHUKY C OCTaJIbHBIM MHUPOM, CTAJI0 BaXXHBIM MOJCHOPHEM B JOCTHUKECHUU
atux neneil. B oktsadpe 1991 roga Enbiiun 00bsBumII, yTo Poccust mpucTynuT K
paauKaibHBIM, OPUEHTUPOBAHHBIM Ha PBIHOK pedopmMaM MO TUMY ''TIOKOBOH
Tepanuu". B pe3ynbTaTe OTMEHBI COBETCKOTO KOHTPOJIS 3a LIEHAaMU BO3HHUKIIA
runepun@usanus. Poccusi B3sina Ha ceOs OTBETCTBEHHOCTh 3a MOTalIeHHE
BHeIHUX 1oaroB CCCP HecMOTps Ha TO, 4TO €€ HACEJIIEHUE COCTABIIAIO BCETO
nosnioBuHy HaceneHuss CCCP Ha MOMEHT ero pacnaga. beui cpoyHO BHEIPEHBI
TaKue BaKHEHIIME DJIEMEHTBhI, KaK TMpUBATU3AIUS TOCYAapCTBEHHBIX
MPEANPUATANA W MacCIITa0HbIE WHOCTPAHHBIE WHBECTUIIUH B TIEPBBIC HECKOJIBKO
JeT TmocTcoBeTckoro mnepuoaa. Ho kommepdeckue 3akoHbl K 1996 rony
OTCYTCTBOBAJIM WJIM JEUCTBOBAIM JIMIIL YacTUYHO. KoHpurypaius 5KOHOMUKH

MOCJI€ MEPEXOIHOTO MEPUOJa OCTaBAIACh HENPEICKA3yEeMOI.
10. Speak about the problems of Russian economy since 1991.
Lesson 3

1. New words to memorize

market-oriented reform pBIHOYHAs pedopma

a drop in the standard najicHue cTa”aapTa

economic inequality PKOHOMHMYECKOE HEPABEHCTBO
excess mortality MOBBINIICHHAS] CMEPTHOCTh
expectancy OXXHUJIaHUE

outrageous BO3MYTHUTEJIbHBIN

government revenues rOCyIapCTBEHHBIE JOXOIbI

2. Read the text to find out some facts a ""shock therapy' was characterized by.

Transition to market economy (1991-98)

Following the collapse of the Soviet Union, Russia underwent a radical
transformation, moving from a centrally planned economy to a globally
integrated market economy. Yeltsin's program of radical, market-oriented reform
came to be known as a "shock therapy". Shock therapy was accompanied by a

drop in the standard of living, including surging economic inequality and
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poverty, along with increased excess mortalityand a decline in life
expectancy. The majority of state enterprises were privatized amid great
controversy and subsequently came to be owned by insiders for far less than they
were worth. For example, the director of a factory during the Soviet regime would
often become the owner of the same enterprise. Under the government's cover,
outrageous financial manipulations were performed that enriched a narrow group
of individuals at key positions of business and government. Difficulties in
collecting government revenues amid the collapsing economy and dependence on
short-term borrowing to finance budget deficits led to the 1998 Russian financial
crisis.

In the 1990s Russia was "the largest borrower" from the International
Monetary Fund, with loans totalling $20 billion. The IMF was criticized for
lending so much, as Russia introduced little of the reforms promised for the
money and a large part of these funds could have been "diverted from their
intended purpose and included in the flows of capital that left the country
illegally".

3. Study the text to match the questions 1-5 to answers A-E.
1. What transformation did Russia undergo?

2. What was shock therapy accompanied by

3. Who could become the owner of the enterprise?

4. What provided enriching a narrow group of individuals?

5. What was the IMF criticized for?

A. The director of a factory during the Soviet regime

B. Outrageous financial manipulations
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C. Economic inequality and poverty, along with increased excess mortality
D. Russia introduced little of the reforms promised for the money

E. It moved from a centrally planned economy to a globally integrated market

economy
4. Give Russian equivalents. Write down your own examples with them.

To undergo a radical transformation, a drop in the standard of living, inequality
and poverty, decline in life expectancy, great controversy, enrich a narrow group,
the flows of capital, dependence on short-term borrowing, collect government

revenues
5. Complete the sentences with a proper word.
privatized, promised, revenues, a drop, enriched, transformation

1. Russia underwent a radical..., moving from a centrally planned economy to

a globally integrated market economy
2. Shock therapy was accompanied by ...in the standard of living
3. The majority of state enterprises were ... amid great controversy

4. Outrageous financial manipulations ... a narrow group of individuals at key

positions of business and government

5. Difficulties in collecting government ... amid the collapsing economy and

dependence on short-term borrowing
6. Russia introduced little of the reforms ...for the money

6. Retell the text in brief.
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7. Read the following text to find out how and when Russian economy

achieved "unprecedented macroeconomic stability"
Recovery and growth (1999-2008)
Oil prices in the 2000s

Russia bounced back quickly from the August 1998 financial crash, partly
because of a devaluation of the rouble, which made domestic producers more

competitive nationally and internationally.

Between 2000 and 2002, significant pro-growth economic reforms included
a comprehensive tax reform, which introduced a flat income tax of 13%; and a

broad effort at deregulation which benefited small and medium-sized enterprises.

Between 2000 and 2008, Russian economy got a major boost from rising
commodity prices. GDP grew on average 7% per year. Disposable incomes more
than doubled and in dollar-denominated terms increased eightfold. The volume of
consumer credit between 2000 and 2006 increased 45 times, fueling a boom in
private consumption. The number of people living below poverty line declined

from 30% in 2000 to 14% in 2008.

Inflation remained a problem however, as the central bank aggressively
expanded money supply to combat appreciation of the rouble. Nevertheless, in
2007 the World Bank declared that the Russian economy achieved
"unprecedented macroeconomic stability". Until October 2007, Russia
maintained impressive fiscal discipline with budget surpluses every year from

2000.

8. Ask as many questions to the text as possible.
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disagreeing.

9. Discuss these statements, use appropriate phrases for agreeing and

Phrases to agree

Phrases to disagree

Definitely.... I couldn’t
agree more.... Absolutely....
Precisely.... I see your point....
I see what you are getting at....
I’d go along with that view to a
point... Sure, that’s one way of
looking at it.... I have to side
with you on this one.... [
suppose so.... | think so too....
I’d go along with that.... That’s
a good point.... I see exactly
what you mean.... You're
right, that’s a good point....
Actually, 1 think you’re
right.... That’s true.... Well, 1
agree with you here.... You
have my full agreement.... |
second that.... Ok, that’s
convincing.... I take your word
on it.... You took the words

right out of my mouth...

I see your point, but.... I
see what you are getting at,
but.... That’s one way of
looking at it, however.... I
completely disagree.... Well, |
see things rather differently....
Umm, I’'m not sure about
that.... I’m not sure I go along
with that view.... [ don’t really
agree with that idea.... | agree
up to a point, but.... You could
say that, however.... 1
wouldn’t quite put it that way
myself.... [ still have my
doubts.... I can’t/ couldn’t go
along with that.... That’s out of
question.... You’ve got to be
kidding.... Well, I don’t quite
agree with you.... I find that
very difficult to accept.... We
don’t seem to agree here....
Not necessarily.... That’s not

always true....
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1. Domestic producers became more competitive nationally and internationally

2. Significant pro-growth economic reforms were introduced

3. The number of people living below poverty line declined

10. Name the main facts in Russian economy during the period 1999-2008.

Lesson 4

1. New words to memorize
credit crunch

shield

fuel

real disposable income

KPEAUTHBINA KPU3UC
3alIUIIATh, IPUKPHIBATH
MATATh, TIOJOTPEBATH

peaHBHBIﬁ pacnonaraeMblﬁ JO0XO01

self-assessed life satisfaction camoolieHka y10BIE€TBOPEHHOCTH KU3HBIO

prudent

unevenly

to diversify
shrink—shrunk
rebound

patent application rate
highest graduation rate

asset freezes

pa3yMHBIN
HEPABHOMEPHO
AUBepCcU(ULUPOBATH
COKpaIaTbcs
BOCCTaHOBUTHCS
KOJIMYECTBO 3asiBOK Ha MAaTE€HT
CaMbIil BBICOKHI IPOLICHT BBIITYCKHUKOB

3aMOPA)KUBAHUC AKTUBOB

2. Read to find out what fueled a rapid growth in living standards.

2009-14

Russian banks were hit by the global credit crunch in 2008, though no long

term damage was done thanks to proactive and timely response by the government

and central bank, which shielded the banking system from effects of the global

financial crisis. A sharp, but brief recession in Russia was followed by a strong

recovery beginning in late 2009.

Between 2000 and 2012 Russia's energy exports fueled a rapid growth

in living standards, with rising by 160%. In dollar-denominated terms this
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amounted to a more than sevenfold increase in disposable incomes since 2000. In
the same period, unemployment and poverty more than halved and Russians' self-
assessed life satisfaction also rose significantly. This growth was a combined
result of the 2000s commodities boom, high oil prices, as well as prudent
economic and fiscal policies. However, these gains have been distributed
unevenly, as the 110 wealthiest individuals were found in a report by Credit Suisse
to own 35% of all financial assets held by Russian households. Russia also has
the second-largest volume of illicit money outflows, having lost over $880 billion
between 2002 and 2011 in this way. After eighteen years of negotiations, Russia's
membership to the WTO was accepted in 2011. In 2013, Russia was labelled
a high-income economy by the World Bank.

Russian leaders repeatedly spoke of the need to diversify the economy away
from its dependence on oil and gas and foster a high-technology sector. In 2012
oil, gas and petroleum products accounted for over 70% of total exports. This
economic model appeared to show its limits, when after years of strong

performance, the Russian economy expanded by a mere 1.3% in 2013.
3. Answer the questions.
1. Were Russian banks hit by the global credit crunch in 20087
2. What was recession followed by in late 2009?
3. What fueled a rapid growth in living standards?
4. Why did self-assessed life satisfaction rise significantly?
5. When was Russia's membership to the WTO accepted?

6. What did Russian leaders repeatedly speak of?

4. Read and answer why Russian economy risked going into recession.

2014-21
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According to the Russian economic ministry in July 2014, GDP growth in
the first half of 2014 was 1%. The ministry projected growth of 0.5% for 2014.

The Russian economy risked going into recession from early 2014, mainly
due to falling oil prices, sanctions, and the subsequent capital flight. While in
2014 GDP growth remained positive at 0.6%, in 2015 the Russian economy
shrunk by 3.7% and was expected to shrink further in 2016. By 2016, the Russian
economy rebounded with 0.3% GDP growth and officially exited recession. The

growth continued in 2017, with an increase of 1.5%.

Russia has the world's 15th highest patent application rate, the 8th highest
concentration of high-tech public companies, such as internet and aerospace and

the third highest graduation rate of scientists and engineers.

In 2019 Russia's Natural Resources and Environment Ministry estimated

the value of natural resources to $844 billion or 60% of the country's GDP.
5. Answer the questions.

1. What was GDP growth in the first half of 2014?

2. Why did the Russian economy risk going into recession from early 2014?
3.How did the Russian economy shrink in 2015?

4. What is the world's highest patent application rate of Russia?

5. How did Russia's Natural Resources and Environment Ministry estimate the

value of natural resources in 2019?

6. Complete the sentences with a proper word.

Concentration, graduation, growth, shrunk, rebounded, recession
1. In July 2014 GDP ... in the first half of 2014 was 1%.

2. The Russian economy went into ... from early 2014

3. In 2015 the Russian economy ... by 3.7%

4. By 2016, the Russian economy ... with 0.3% GDP growth
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5. Russia has the 8th highest ... of high-tech public companies, such as internet

and aerospace

6. Russia has the third highest ... rate of scientists and engineers

7. Agree or disagree, use the prompts.

Definitely.... 1 couldn’t That’s out of question.... You’ve
agree more.... Absolutely.... | gotto be kidding.... Well, I don’t quite
Precisely.... I see your point.... I | agree with you.... I find that very
see what you are getting at.... I’d | difficult to accept.... We don’t seem to
go along with that view to a| agree here.... Not necessarily....
point... Sure, that’s one way of | That’s not always true....

looking at it....

1. GDP growth in the first half of 2014 was 1%

2. The Russian economy risked going into recession from early 2014, only due to

falling oil prices

3. In 2013 the Russian economy shrunk by 3.7%

4. The Russian economy was expected to shrink further in 2016
5. The growth continued in 2017

6. In 2019 Russia's Natural Resources and Environment Ministry estimated the

value of natural resources to $ 44 billion

8. Retell the text in brief.

9. Read the text and write down five questions to it.
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In 2022, there have been heavy sanctions that will likely result in steep
recession Sanctions also included asset freezes on the Russian Central
Bank, which holds $630 billion in foreign-exchange reserves, to prevent it from

offsetting the impact of sanctions.

In November 2022 it was reported that Russia had officially entered a
recession as the Federal State Statistics Service had reported a national GDP loss

for the second consecutive quarter.

10. Write down the pros and cons of Russian economy development. Get

ready to discuss them.

UNIT 2. Modern entrepreneurial activity in Russia
Lesson 1
1. New words to memorize
Entrepreneurship PEeANPUHUMATETHCTBO
endorsed by educational institutions 0m00peHO y4eOHBIMH 3aBEICHUSIMU
foster CIoCOOCTBOBATH
facilitate COJICIICTBOBATH
guarantee independent decision rapaHTUPOBATh HE3ABUCUMOE PEIICHUE
2. Read the text. Tell what entrepreneurship means and what its role in the
society is.
As evidenced by the many different definitions, the
term entrepreneurship means different things to different people. However, in
spite of the differences, there are some common aspects: risk taking, creativity,

independence, and rewards. These common aspects are supposed to be the

driving force behind the notion of entrepreneurship in the future. One thing is
clear — the future for the entrepreneurship appears to be bright. We are living in
the age of the entrepreneur, with entrepreneurship endorsed by educational
institutions, governmental units, society, and corporations. Entrepreneurial

education has never been so important in terms of courses and academic research.
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The role of entrepreneurship is of interest to business people,
politicians, college professors and students. The dramatic changes that have
occurred in the once controlled economy of Russia in the 1990s have raised
many questions: Can entrepreneurship in Russia change the traditional state
— dominated system with limited economic freedom and contribute to global
market development? What is the profile of Russian entrepreneur? What is

necessary to carry out entrepreneurial activities in Russia successfully?

Entrepreneurship as a social phenomenon reflects the basic conditions that
foster the economic development as a result of human creativity, new ideas and
innovations. There is a general agreement among the scholars that
entrepreneurship facilitates economic freedom and economic creativity.
Economic freedom makes available a certain amount of rights that guarantee
independent decision — making in choosing the type and field of economic activity
and methods of operation. Economic creativity results in the new businesses and

jobs being created.

3. Match the words to their synonyms underlined in the text.

promotes, appeared, ensure, intellectual, approved, self-determination, indicated
4. Answer the questions.

1. What does the term entrepreneurship mean to different people?

2. What are some common aspects of entrepreneurship?

3. What does the future for the entrepreneurship appear to be?

4. Who is interested in entrepreneurship?

5.What is a general agreement among the scholars?

6.What does economic freedom make available?
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5. Give Russian equivalents. Write down your own examples with them.

common aspects, risk taking, creativity, independence, rewards, in the age of the

entrepreneur

6. Read the statements. Find out whether they are true or false. Correct the

false ones.

1. The term entrepreneurship means different things to different people
2. The term entrepreneurship means only rewards

2. The future for the entrepreneurship appears to be dull

3. Entrepreneurship is disapproved by educational institutions and governmental

units
4. The role of entrepreneurship is of interest only to business people

5.The economic development is usually a result of human creativity, new ideas

and innovations.

6.Entrepreneurship blocks economic freedom and economic creativity

7. Match the statements to the definitions.

1.It is one’s ability to make new things, generate new ideas

2. It is an individual who creates and/or invests in one or more businesses
3.1t is the creation or extraction of economic value

4.The power to do what you want to do

5.A person who has studied a subject for a long time and knows a lot about it

A. freedom; B. entrepreneurship; C. scholar; D. creativity; E. entrepreneur

8. Complete the sentences with a proper word.

Results, available, contribute, traditional, occurred, endorsed, age, creativity
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1. The term entrepreneurship means ....

2. We are living in the ... of the entrepreneur

3. Entrepreneurship is ... by educational institutions

4. The dramatic changes ... in the controlled economy of Russia in the 1990s
5. Entrepreneurship in Russia could change the ... state — dominated system
6. Entrepreneurship in Russia could... to global market development

7. Economic freedom makes ... a certain amount of rights

8. Economic creativity ... in the new businesses and jobs

9. Make up dialogues to discuss the nature of entrepreneurship. Use the

questions ex.3

10. Retell the text in brief.

Lesson 2

1. New words to memorize

Retail trade PO3HHUYHASI TOPTOBJIS

To deny licenses OTKa3bIBaTh B BhIIaU€ JUIICH3UN
Office space o UCHBIEC TTOMEIIECHUS

Bribe B3sTKa

Discretionary regional charges  AuCKpelMOHHBIE PETHOHATIBHBIE COOPBI

Gangs of racketeers OaH/IbI PIKETHUPOB

2. Read the text and answer the question what barriers Russian

entrepreneurs face.

After the end of communism and the collapse of the Soviet Union in 1991,
Russia began the slow and hard process of moving toward the market economy.
From the years of transition, the number of Russian small business and

entrepreneurship grew quite rapidly in the early part of 1990s. This was due to a
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series of economic reforms, including privatization. New entrepreneurship filled
large gaps in the former Soviet economy, particularly in retail trade and services.
However, Russian entrepreneurs face many barriers, which slow down the

development of entrepreneurial activity in the country.

Some examples of such barriers are the process of registering a business
and a high level of corruption in Russia. A new entrepreneur has to get tons of
various official permissions, certifications, and registrations from different
organizations. During this process and throughout the normal operation of a
business a person is faced with corrupt bureaucracy that has the power to deny
licenses, permits, office space, and access to materials unless substantial “gifts”
or bribes are offered. Another problem is taxation. Corporate and individual
income-tax rates in Russia are comparable to those in other countries in transition.
However, the addition of discretionary regional and local charges makes it much
more difficult to do business. Small business people are also confronted racketeers
who offer protection of your business, which cannot be refused, in return for
monetary compensations. These criminal costs substantially raise the costs of
doing business. Also, gangs of racketeers known as mafias control some key
inputs required for business operation. As a matter of fact, Russian entrepreneur
was for a long time thought of as a Mafiosi, which prevented many foreign
businesspeople from investing capital into the country. Luckily, this

understanding weakened over time.

Despite all the difficulties many people own small businesses. According
to the Russian SME resource center’s statistical report, in 2002 and 2003 small
and medium sized enterprises with up to 250 employees constituted 94% of the

total number of enterprises and 49% of total employment.

Due to an increase in economic discrimination against women after the start
of economic reforms in Russia, many women became micro entrepreneurs. With

the fall of the communist state, the principle of “equal pay for equal work” was
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no longer enforced, resulting in a decline in women’s average wage levels from
70% to 40% of that received by men. Unemployment among women also
increased at a much higher rate than among men. This made many Russian women
turn to private entrepreneurship. At this time the estimated total number of women
engaged in various kinds of independent business is over three million, which
accounts for about one-third of all self-employed population in Russia. However,
due to significant barriers, the number of entrepreneurs has decreased
dramatically over the last several years. Despite some opportunities in Russia, the
country’s Total Entrepreneurial Activity (TEA) is only 2.5%. Nevertheless, most
analysts predict that entrepreneurship will continue to grow in Russia. Another
barrier to entrepreneurs is the lack of qualified managers. Under communism,
businessmen were told what to do, how to do it, and when to do it. As a result,
many managers never developed basic strategy and management skills. This is
changing in the younger generation though. As a result, young entrepreneurs

could drive Russia’s economy to a whole new level in the future.
3. Answer the questions.

1. The number of Russian small business and entrepreneurship grew quite rapidly

in the early part of 1990s, didn't they?

2. What gaps did new entrepreneurship fill?

3. What slows down the development of entrepreneurial activity in the country?
4. What does a new entrepreneur have to get to register his business?

5. Who are small business people confronted?

6. Why did many women become micro entrepreneurs?

7. What is the total number of women engaged in various kinds of independent

business?
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8. Another barrier to entrepreneurs is the lack of qualified managers, isn't it?
4. Give Russian equivalents. Write down your own examples.

slow and hard process, slow down, official permissions, to deny licenses, raise the
costs, control inputs, own business, self — employed population, management

skills, drive economy to a new level.
5. Give English equivalents. Write down your own examples.

nepexo] K PHIHOYHOW SKOHOMHUKE, POCIH JTOBOJBHO OBICTPO, 3amOJHUIH
Oonpiiie TPOOEIbI, CTAJIKUBACTECh CO MHOTMMH MPEMIATCTBUSIMH, IPOIECC
perucTpanuu OW3HEca, 3aMeINTh pPa3BHTHE, OTKa3blBaTh B Pa3pEIICHUSX,
HeoOs3aTenbHBIE COOpPBI, B OOMEH Ha JEHEXHYI0 KOMIICHCAITUIO, CHIDKCHHE

cpeaHelt 3apaboTHOM IIIaThI )KECHIIMH, MOJIOJ0€ TTOKOJICHHE.

6. Match the synonyms.
lack, decrease, drive, prevent, discretionary, power, confront, charge, face;

Meet, expense, shortage, drop off, stimulate, block, facultative, capacity, oppose;

7. Read the statements. Find out whether they are true or false. Correct the

false ones.

1. After the end of communism and the collapse of the Soviet Union in 1991,

Russia began the fast process of moving toward the market economy.

2. Due to a series of economic reforms the number of Russian small business and

entrepreneurship grew quite rapidly in the early part of 1990s

3. New entrepreneurship filled large gaps in the former Soviet economy,

particularly in production

4. Russian entrepreneurs face no barriers
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5. A new entrepreneur has to get only an official permission

6. Throughout the normal operation of a business a person is faced with corrupt

bureaucracy
7. The criminal costs substantially decrease the costs of doing business.

8. According to the Russian SME resource center’s statistical report small and
medium sized enterprises with up to 250 employees constituted 30% of the total

number of enterprises

9. Despite some opportunities in Russia, the country’s Total Entrepreneurial

Activity (TEA) is only 2.5%.
10. Most analysts predict that entrepreneurship will stop growing in Russia.
8. Complete the sentences with a proper word.

Lack, engaged, faced, filled, rapidly, face, comparable, required, constituted,

discrimination

1. From the years of transition the number of Russian small business and

entrepreneurship grew quite ... in the early part of 1990s.
2. New entrepreneurship ... large gaps in the former Soviet economy.

3. Russian entrepreneurs ... many barriers, which slow down the development of

entrepreneurial activity in the country.

4. During the process and throughout the normal operation of a business a person

is ... with corrupt bureaucracy

5. Corporate and individual income-tax rates in Russia are ... to those in other

countries in transition.
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6. Gangs of racketeers known as mafias control some key inputs ... for business

operation.

7. According to the Russian SME resource center’s statistical report small and

medium sized enterprises ... 94% of the total number of enterprises

8. Due to an increase in economic ... against women after the start of economic

reforms in Russia, many women became micro entrepreneurs.

9.At this time the estimated total number of women ... in various kinds of

independent business is over three million
10. Another barrier to entrepreneurs is the ... of qualified managers
9. Translate the text into English.

[Tocne pacmaga Coerckoro Coroza B 1991 rony B Poccum Hawancs
MPOLIECC MEPEXOAA K PHIHOYHOW 3KOHOMHUKE. KOIMYEeCTBO pPOCCUUCKHX MaJIbIX
NpEANPUATAN U IPEANPUHUMATENbCKAs aKTUBHOCTD POCIIA JJOBOJIBHO OBICTPBIMHU
temnamu. OTHAKO POCCUUCKHE MPEANPUHUMATENN CTAIKABAKOTCA CO MHOTHUMU
OappepamMu,  KOTOpPbIE  3aMEJIAIOT  pa3BUTHE  MPEANPUHUMATEIHCKOM
NEeATEeIbHOCTH B cTpaHe. HekoTopeiMu mpuMepamMu Takux OapbepoB SBIISIOTCS
mporecc perucrparuu  OusHeca. I[lpeanmpuHuUMarenp JOMKEH IOJIYYHTh
MHOECTBO Pa3IMYHBIX O(UIMANBHBIX pa3pemieHuil. Eme oana mpobiema -
HajorooOnoxenue. JlOMONHUTENbHBIE UCKPCIIMOHHBIE PErHOHANBHBIE |
MECTHBIC COOPBI 3HAUNTEIILHO 3aTPYIHSIOT BeJeHue Ou3Heca. HecmoTpst Ha Bce
TPYAHOCTH, MHOTHE JIFOAM BJIAJICIOT MajbiM Onu3HecoM. B HacTosiee Bpems, 1o
OIIEHKaM, 00Illee YKCIIO KEHILUH, 3aHATHIX B PAa3JIMYHBIX BUAAX HE3aBUCHUMOIO
Ou3Heca, cocTaBiseT 0ojiee TPEX MUJUIMOHOB, YTO COCTaBIISIET OKOJIO TPETH OT
o0IIell YHCJICHHOCTH caMo3aHsATOro HaceineHus Poccuu. BoabmmMHCTBO
AHAIMTUKOB IPOTHO3UPYIOT, YTO MPEANPUHUMATEIBLCTBO B Poccru mpoaoinKuT

pacTu.
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10. Name the main problems Russian entrepreneurs face.
Lesson 3
1. New words to memorize

R&D (research and development) wuccienoBanus u pa3paboTKu

life- style firm KOMITaHHUH, CBSI3aHHBIE C 00PAa30M JKM3HU YeJIOBEKa
foundation company KOMITaHUS -y4pEIUTEINb

high-potential ventures MPEANPUATHS C BBICOKUM IMOTEHIIUATIOM
annual revenue rOJIOBOM J0XO[

lay the foundation 3aK1aabIBaTh (PyHIAMEHT

employ HaHUMaTb, TPYJOYCTPOUTD

public limited company KoMITaHHS C OTpaHUYESHHOW OTBETCTBEHHOCTHIO

2. Read the text and name the main start-up categories in Russia.

So, the decision to create a new company has been made. What types

of companies there exist? While there are many classification systems, one

that 1s the most useful divides start-ups into three categories: life-style firms,

foundation companies, and high-potential ventures.

A lifestyle (“home”) firm is a private enterprise. Lifestyle firms

include ski instructors, golf pros, and tour guides. It usually achieves only

modest growth due to the nature of the business, the objectives of the

entrepreneur, and the limited money devoted to R&D. This type of firm may

grow after several years to 30 or 40 employees and have annual revenues of

about $2 million. A life-style firm exists primarily to support the owners and

usually has little opportunity for significant growth and expansion.
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The second type of start-up — the foundation company (innovation
enterprise) — is created from R&D and lays the foundation for a new industry.
This firm can grow in 5 to 10 years from 40 to 400 employees and from $10
million to $20 million in annual revenues. Since this type of start-up goes

public, it usually draws the interest of private investors only.

The third type of start-up — the high-potential venture — is the one that
receives the greatest investment interest and publicity (investors are striving to
invest money in it). While the company may start out like a foundation company,
its growth is far more rapid. After 5 to 10 years the company could employ around

500 employees with $20 million to $30 million in annual revenues.

The company usually shortly becomes a public limited company. The
creation of a new venture must be desirable and possible for an individual to

change from a present life- style to a radically new one.
3. Give Russian equivalents.

to create a new company, a private enterprise, the objectives of the entrepreneur,
to support the owners, significant growth and expansion, lays the foundation,

investment interest
4. Give English equivalents.

THUIIbBI KOMHaHHﬁ, MHOXCECTBO CUCTEM KHaCCH(I)HKaHI/II/I, MpCANpUATHA C BBICOKUM
IMOTCHIOMUAJIIOM, YaCTHOC IIPCAIPHUATHC, AOCTHUTACT JIMIIb CKPOMHOI'O POCTa,

[MoJay4acT HanOOJIBIIHI HHBGCTI/IHI’IOHHBIﬁ HHTCPCC

5. Match the statements with the definitions.
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1.businesses which provide their owner or owners the opportunity to pursue a

particular lifestyle and earn a living while doing so
2.designed for the purpose of achieving high growth and rapid profit increases.

3. an organization that is created and supported with money that people give in

order to do something that helps society
4.money that is collected for public use by a government through taxes

5. any firm which offers shares to members of the general public and in turn owns

a limited amount of its own shares
A. public limited company B. revenue C. high-potential venture

D. life-style firm  E. foundation company

6. Complete the sentences with a proper word combination.
Desirable, grow, include, achieves, lays, receives

1. Lifestyle firms ... ski instructors, golf pros, and tour guides.

2. It usually ... only modest growth due to the nature of the business

3. The foundation company (innovation enterprise) — is created from R&D

and ... the foundation for a new industry.
4. This firm can... in 5 to 10 years from 40 to 400 employees

5. The high-potential venture ... the greatest investment interest and publicity

(investors are striving to invest money in it).

6. The creation of a new venture must be ...and possible for an individual to

change from a present life- style to a radically new one.
7. Answer the questions.

1. What types of companies there exist?

2. What is a life-style (“home™) firm?
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3. Who can lifestyle firms include?

4. Does lifestyle firm achieve high growth?

5. What is the foundation company (innovation enterprise) created from?
6. How can foundation company grow in 5 to 10 years?

7. What type of companies receives the greatest investment interest and

publicity?

8. Why must the creation of a new venture be desirable and possible for an

individual?

8. You are going to start up your own company. What type would you like to

choose? Give a sketch of your project. Use the following plan.

1. The idea of the project and its justification (theory, problem, relevance).
2. The purpose of the project.

3. Project objectives.

4. Means of implementation.

5. Implementation steps.

6. Possible problems.

7. Predicted result

Lesson 4
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1. New words to memorize

to support a new venture MOAJICPKaTh HOBOE IIPEATIPUATHE
suppress MIOJIABJISTh

gain puObLTH

background 3]1. IPEINOCHUTKH

to overcome all the difficulties MPEOJ0JIETh BCE TPYIHOCTHU

a market demand PBIHOYHBIN CIIpOC

2.Read the text to find out what knowledge, skills and resources should

a future entrepreneur possess.

To support a new venture the government contributes by providing the
infrastructure. When we speak about infrastructure, we mean roads,
communication and transportation systems, utilities, and so on. Countries
that have high tax rate, particularly for individuals, can suppress company
creation because a significant monetary gain cannot be achieved, but the
financial psychic, and social risks are still present. The entrepreneur should
also have the necessary background as education and previous business
experience give a potential entrepreneur the skills that are necessary to
overcome all the difficulties in creating and managing a new enterprise.
Marketing experience also plays a critical role in creating a new company.
The only presence of an idea to create a new product or service is not enough.
For successful product launching to the market, there should also be a certain
practical knowledge of marketing necessary to choose the best total
combination of product, price, distribution, and promotion. A company is
more successful if there is a market demand rather than a demonstration of
technological capabilities of the producer. Financial resources are necessary

for a new company creation. While most of the start-up money for a new
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company comes from personal savings, credit, friends, and relatives, there is
often a need for additional start — up capital. Each new venture has a common
trait — the need for risk capital. Risk-capital investment plays an essential role
in the development and growth of entrepreneurial activity. When start-up
capital is readily available, more new companies are created. Finally, a role
model (a live example of entrepreneurial success) can be one of the most
powerful influences in making company creation. To see someone else
succeed makes it easier to picture yourself be engaged in a similar activity.

A frequent comment of entrepreneurs when asked about their motivations for

",

starting their new venture is:” If that person could do it, so can I
3. Answer the questions

1. How does the government contribute to support a new venture?
2. When cannot a significant monetary gain be achieved?

3. What necessary back ground should the entrepreneur also have?
4. Why does marketing experience also play a critical role?

5. There is often a need for additional start — up capital, isn't there?
6.What can be one of the most powerful influences?

4. Complete the sentences with a proper word combination
Available, suppress, background, infrastructure, difficulties, experience

1. When we speak about ... we mean roads, communication and transportation

systems
2.High tax rate can... company creation

3.The entrepreneur should also have the necessary ... such as education and

previous business experience
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4.To overcome all the ... in creating and managing a new enterprise, a potential

entrepreneur should have some skills
5. Marketing... plays a critical role in creating a new company
6. When start-up capital is ... more new companies can be created

5. Study the dialogue to find out the ways to get capital. What are they? Learn

and reproduce the dialogue

A: Thanks for meeting me. I know you’re busy, but I would appreciate some
financial advice.

B: Of course. I’'m always happy to help. What’s the issue?

A: Well, I want to start my own company, but I don’t have much capital. What
are my options?

B: One option is to take out a loan. You want to make sure you get a good interest
rate and that the financial institution is stable and trustworthy.

A: I’ve looked at different lenders and have found some good ones. But part of
me doesn’t want to rely on borrowing.

B: You may be able to get a venture capitalist to invest in your business.

A: That’s a good idea. Since you work in finance, would you happen to know of
anyone I can talk to about this?

B: I think I can get you at least a couple of contacts.

A: That’s fantastic! Thank you.

6. Match the statements with the definitions

1. money, property, etc., that is used for investment or for starting a business.

2. money that someone or a company/corporation borrows from a financial
institution or an individual for a period of time with a promise that it will be paid
back; often the person must pay interest.

3. the percentage of the amount of money borrowed that the borrower must pay

to the lending institution in addition to the amount of the loan.
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4. company such as a bank or investment company that provides financial services
like loans, investments, etc.

5. financial institutions or individuals who lend money that is then paid back with
interest.

6. taking money from a bank or other financial institution with the intention of
paying it back over a specified period of time, usually with interest.

7.a person or financial organization that invests in new businesses or the
expansion of small companies, becoming a partial owner of the business and with

the goal of making a large profit.

A. venture capitalist; B. borrowing; C. capital; D. loan; E. interest rate; F.

lenders; G financial institution

7. Discuss the following statements, use appropriate phrases to agree or

disagree

1. A market demand is more important than technological capabilities of the

producer

2.The only way to get the start-up money for a new company is personal savings,

credit, friends, and relatives

3.Small business people are always confronted racketeers who offer protection of

the business

4.The government always supports potential entrepreneurs

UNIT 3. The importance of the budget in a modern state
Lesson 1

1. New words to memorize.

approval of the legislature

infrastructure investment WHBECTHUIIMU B UHPPACTPYKTYPY
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research expenditure pacxo/ibl Ha UCCIIEIOBAHUS
retirement benefits IICHCHOHHBIE BBLITUIATHI

to tackle climate change OOpOThCS C UBMEHEHHUEM KJIUMaTa

2. Read the text to find out why government budget is very important.

A government  budget is a  projection of  the
government's revenues and expenditures for a particular period of time often
referred to as a financial or fiscal year. It may or may not correspond with
the calendar year. Government revenues mostly include taxes while
expenditures consist of government spendings. A government budget is
prepared by the government or other political entity. In most parliamentary
systems, the budget is presented to the legislature and often requires approval
of the legislature. The government implements economic policy and realizes

its program priorities through the budget.

Once the budget is approved, the distribution of its funds depends on
respective government ministries and other institutions. The two basic elements
of any budget are the revenues and expenses. In the case of the government,
revenues are derived primarily from taxes. Government expenses include
spending on current goods and services, which economists call government
consumption; government investment expenditures such as infrastructure
investment or research expenditure; and transfer payments like unemployment or

retirement benefits.
Government revenue

Government revenue is the income of the government earned by
redistribution of the social products. It is the financial resource necessary for the
functionality of the government. The contents of government revenue have

undergone multiple changes. Today, it mostly consists of the following:

3. Match the phrases.

42



l.revenues and expenditures a.TICHCMOHHBIE TTOCOOUS

2.Fees and charges b.npenocTaBisATh  TOBapbl

JUTSL OTBIXA
3. sell public assets

C.KUJias 3aCTpOUKa
4. to provide recreational

goods d.Coopsl 1 mopydeHus

5. to tackle climate change ¢.00ecreunTh

SKOHOMUYECKUN POCT
6. retirement benefits

f.nponasatsb

7. residential development
roCyJapCTBEHHBIC AKTHBBI

8. to ensure economic
g.00pOThCsI ¢ M3MEHCHHEM

growth
KIuMaTa

h.10x0ab1 U pacxoabl

4. Match the synonyms.

Expenditures, approve, derive, undergo, provide, violate, generate, tackle;
Disapprove, collect experience, give, offend, develop, engage in, spendings;

5. Match the words to make up phrases. Write down your own examples
with them.

To implement, to transfer, to earn, to undergo, to require, to provide, to borrow,
to ensure, to improve, to meet;

the quality, by redistribution, policy, payments, changes, approval, services,

money, safety, the needs
6. Complete the sentences with the proper word.

Include, approved, provided, borrow, a projection, implements, derived, to fund,

sell allocated
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1. A government budget is ... of the government's revenues and expenditures for

a particular period of time
2. Government revenues mostly... taxes

3. The government... economic policy and realizes its program priorities through

the budget.

4. Once the budget is..., the use of funds from individual chapters is in the hands

of government ministries and other institutions.
5. In the case of the government, revenues are ... primarily from taxes.
6. Fees for additional services are... by the government

7. Government may ... money by issuing bonds and other securities, increasing

its debt.

8. Grants are given to the government by international organizations ... specific

projects.

9. Government may ... public assets such as land, buildings or equipment

10. Funds are ... into different industries of the economy
7. Match the statements with the definitions.

1.an amount of money available for spending that is based on a plan for how it

will be spent

2 the total number of people who do not have jobs in a particular place or area
3.work done by an organization or person that does not involve producing goods
4.money that is made by or paid to a business or an organization

5.an amount of money that is spent on something

6.a group of people with the power to make or change laws

7.an amount of money that a government requires people to pay according to their

income

44



8.an amount of money that a company or the government pays to a person who is

old or sick and no longer works

A. revenue, B. legislature, C. unemployment, D. tax, E. Service, F. expenditure,
G. pension H. budget

8. Read the statements. Find out whether they are true or false. Correct the
false ones.

1. Government revenues mostly include taxes

. A government budget is prepared by any business entity

. The budget requires approval of the legislature

. The only basic element of any budget is expenses.

. Current goods and services are called government consumption

. Government may borrow money by issuing bonds

. Grants are given to the government by local organizations

. Government can't sell public assets

O© 0 3 O D A~ W DN

. Funding of general public services is provided only for the individuals.

10. Governments may spend money on environmental protection
9. Answer the questions.

1. What is a government budget?

2. Does fiscal year always correspond with the calendar year?

3. What do government revenues mostly include?

4.Who is a government budget prepared by?

5. Who is the budget presented to in most parliamentary systems?
6. What are two basic elements of any budget?

7. What do government expenses include?

8. What is government revenue?

9. What are tax revenues?

10.How may government borrow money?
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11.What may government sell to generate additional income?
12. Can you give any examples of government expenditures?

10. Discuss the following statements, use appropriate phrases to agree or

disagree.

Lesson 2

1. New words to memorize

Future desired action XKeJaeMoe JIeHCTBHE B Oy IyIieM

Capital addition MPHUPOCT Kamurasa

Think ahead TyMaTh Harepe

Anticipated conditions OKUJIa€MbIE YCIIOBUS

achieve the targets JIOCTUYD 1eeH

practice of rewarding employees IpaKkTHKa HarpaxjaceHus paOOTHUKOB

2. Read the text to find out what budgeting is and what its main objectives
are.
Objectives of Budgeting
The main objectives of budgeting are:
1. Planning
Coordination
Measurement of Success
Motivation

Communication

AN o

Control

Planning. Planning is defined as the design of a future desired action for
an entity and 1s based on the belief that it can be attained by management activity.
Detailed plans of production, sales, raw-material requirements, labour needs,
capital additions, etc. are drawn out. Many problems can be estimated long before

they arise and solution can be thought of through careful study by planning. In
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short, budgeting forces the management to think ahead, to foresee and prepare for
the anticipated conditions. Planning is a constant process and it requires constant
revision in changing conditions.

Coordination. Budgeting plays a significant role in establishing and
maintaining coordination. Budgeting assists managers in coordinating their
efforts so that problems of the business are solved in harmony with the objectives
of its divisions. Coordination is required at all vertical as well as horizontal levels.
Efficient planning and management contribute a lot to achieving the targets.

Measurement of Success. Budgets present useful means of informing
managers how well they perform to meet targets they set. In many companies,
there is a practice of rewarding employees on the basis of their accomplished low
budget targets or promotion of a manager can be linked to his budget success
record. Success is determined by comparing the past performance with the
previous one.

Motivation. Budget is always considered to be a useful tool for
encouraging managers to match actions with the objectives. If individuals
participate in the preparation of budgets, it acts as a strong motivating force to
achieve the goals.

Communication. A budget serves as a means of communicating
information within the organization. The standard budget copies are distributed to
all managers. It provides not only sufficient understanding and knowledge of the
programs and guidelines to be followed but also gives knowledge about the
restrictions to be adhered to.

Control. Control is essential to make sure the plans and objectives of the
budget are being achieved. Control applied to budgeting is an effort to keep the

management informed of whether planned performance is being achieved or not.
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3. Give Russian equivalents. Write down your own examples with them.

a desired future position, position can be attained, can be estimated, in establishing
and maintaining coordination, to foresee and prepare, to think ahead, coordinating

efforts, participate in the preparation
4.Match the statements to their definitions.
1.the act or process of giving someone a reason for doing something

2.the process of organizing people or groups so that they work together properly

and well

3. the act or process of using words, sounds, signs, or behaviors to express or
exchange information or to express your ideas, thoughts, feelings, etc., to

someone else

4.the act or process of measuring something

5.the act or process of making a plan to achieve or do something

6.the power to make decisions about how something is managed or done

A. Control, B. Communication, C. Motivation, D. Coordination, E. Measurement

of Success, F. Planning

5. Complete the sentences with a proper word.

Sure, distributed, encouraging, participate, determined, estimated, required,

draw out
1.The manager has to... detailed plans of production

2.Coordination is ... at all vertical as well as horizontal levels
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3.Many problems can be ... long before they arise
4.Success is ... by comparing the past performance with the previous one.

5.If individuals ... in the preparation of budgets, it acts as a strong motivating

force

6.Budget is always considered to be a useful tool for ... managers to achieve the

goals
7. The standard budget copies are ...to all managers

8. Control is essential to make ...the plans and objectives of the budget are

achieved

6. Answer the questions.

1. What is planning?

2. What role does budgeting play in establishing and maintaining coordination?
3. How does budgeting assist to measure success?

4. Budget 1s always considered to be a useful tool for encouraging managers, isn't

it?

5. Can you give any examples of the measurement of success
6. How does budgeting serve as means of communicating?
7.Why is control essential?

7. Translate into English.

EIOIDKGT — OTO MMpOoHICCC COCTABJICHUA, UCIIOJIHCHWA, KOHTPOJISI U aHaJIN3a

UCTIOJIHEHUSI OIO/PKETOB  OpraHm3anuid. brompker — 3To 1miaH  10XO0B
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¥ PacXOJI0B B JICHE)KHOM WJIM HAaTypaTbHOM BBIPAXCHHH, KOTOPHIM COCTABIISIOT
Ha HY)KHBI ~ meproA.  ['OpM3OHT  IUTaHUpOBaHUS  OIO/KETa  3aBUCHT
OT JOJITOCPOYHOCTH LieJiei komnaHuu. Yaiie Bcero 010/KeT COCTABISAIOT Ha OAUH
roJi, ¢ pa3OMBKOM 10 KBapTajiaM U MecslaM. brogkeT MOKHO COCTaBIIATD Kak JJIst
BCEH OpraHu3anuu, Tak M UIA €€ OTAENbHBIX NOApa3aesieHuil, QyHKIMNA WIn
npoayktoB. Hampumep, MokeT ObITH OIOMKET AOXOJOB U PacXoJ0B, OIOIKET
IpOU3BOJACTBa, Oromker mnpoaax. CocTraB U CTPyKTypa OIOJKETOB 3aBUCHT

oT crenuuky OM3Heca, I03TOMY UHIUBUAYaIbHBI AJI KaXKIO0r0 CiIydasl.
8. Speak about main objectives of budgeting in brief.

9. Get ready to discuss what is in common between state and family

budgeting.
Lesson 3

1. New words to memorize

Guidelines pEKOMEHIAIUU

Review current trends IPOAHATU3UPOBATH TEKYIINE TEHACHIINH
Frame future policies chopMyIHpOBaTh OYIYIIYIO TOTUTHKY
clarify the goals YTOUHUTH 1IEJTH

a clear linkage YyeTKas yBA3Ka

cost consciousness ydeT 3aTpar

receive greater favor MOJTYYUTh OOJBIIYIO TTOI3Y

reveal the deviations BEISIBUTH OTKJIOHEHUS

2. Read the text. Title each passage

These are some important advantages of budgeting.

1. Budgeting provides a tool through which managerial policies and goals are
periodically evaluated, tested and established as guidelines for the entire

organization. It helps to review current trends and frame future policies.
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Budgeting gives planning a reality and sense. It enables the enterprise to clarify

the goals and policy in operational and realistic terms.

2.The goal of budgeting is to minimize wastages of all kinds and make proper and
fuller utilization of the assets and resources of the business to achieve efficiency
and profitability. Budgetary control directs enterprise activity towards
maximization of efficiency, productivity and profitability.
Budgetary control establishes a clear linkage and balance between the inputs such
as assets, resources and time and the output in the form of production,

performance and profit.

3. Budgets are studied by outside fund providers such as banking and financial
institutions, realizing that management encourages cost consciousness and
maximum utilization of available resources. If management develops budget
plans and operates accordingly it receives greater favor from credit agencies.
Budget aids the management in obtaining funds from financial institution because
it will provide the latter an insight into the problems of operation, the plans of the

firm and an understanding of its financial requirements.

4. It reveals the deviations to management after comparing the budgeted figures
with actual ones. For this purpose, a comprehensive budgeting program provides

comparison of actual performance against predetermined plans and objectives.

5. The budget system provides an integrated picture of the firm’s operations as a
whole. It enables the manager of each division to see the relation of his part of the

enterprise to the totality of the firm.

6.Careful forecast of cash flow provides the avoidance of many problems.
Probable obstacles can be eliminated by appropriate adjustments in operating

policies.
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7. Budgeting helps to eliminate all sorts of wastage in different departments if
thorough control of production costs, inventory and general administrative

expenses 1s exercised.
3. Translate into Russian.

provides a tool, are periodically evaluated, tested and established, to review
current trends and frame future policies, to clarify the goals, to minimize

wastages, establishes a clear linkage, encourages cost consciousness
4. Translate into English.

MPEIOCTABIISACT WHCTPYMEHT; TEPHUOAUYECKH OIEHUBAIOTCS, TECTUPYIOTCS W
YCTaHABIMBAIOTCA B KadeCTBE PYKOBOISAIINX MPHUHIUIOB;, CHOPMYIUPOBATH
OynylIyr0 TIOJUTHUKY;, CBECTH K MHUHUMYMY TIOTepH; IS JOCTHKCHHUS
9h(HEKTUBHOCTH W TPUOBLUILHOCTH; AKTHUBBI, PECYpChl W BpEMS;, OCO3HAHHE

3aTpar, n30eKaHue MHOTHX HpO6JI€M; COOTBCTCTBYIOIIUC KOPPCKTUPOBKHU,

5. Match the words to make up phrases. Write down your own examples with

them.

1.provide a. wastage
2. review b. deviations
3. frame c. policies
4. reveal d. a tool
5.eliminate e. trends

6. develop f. activity
7.direct g. funds
8.obtain h. plans
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6. Read the statements. Find out whether they are true or false. Correct the

false ones.

1. Budgeting provides a tool to evaluate managerial policies and goals
2. Budgeting complicates reviewing current trends

3. The goal of budgeting is to maximize wastages of all kinds

4. Budgeting enables the enterprise to clarify the goals

5. It's difficult for management to receive greater favor from credit agencies if it

develops budget plans and operates accordingly

6.The budget system enables the manager to see the relation of his division to the

firm on the whole

7. Budgetary control eliminates balance between the input and the output

8. Budgets are studied by outside fund providers

7. You are going to be interviewed about main advantages of budgeting in

your organization. Answer the following questions

1.What tools does budgeting provide?

2.What does budgeting help to do?

3.What does budgeting enable the enterprise to do?

4. What is the goal of budgeting?

5. Who are budgets studied by?

6. How does budgeting reveal the deviations to management?
7. How can probable obstacles be eliminated?

8.How does budgeting help to eliminate all sorts of wastage?

8. Get ready to discuss the main advantages of budgeting.
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Lesson 4

1. New words to memorize

time-consuming process TPYAOEMKHI Ipoiiecc
approval and support 0J100peHue U MO ACPIKKa
detrimental BpPEIIHBIN

to revise MEPECMOTPETh

2. Read the text to find out what should be done to reduce disadvantages of
the budget.

Although the budget is of great importance in the economy it has some limitations

and disadvantages:

Disadvantages

1. Budgeted numbers often need revision as future prediction is difficult.
2. It is time-consuming and costly process, needs people and resources.

3. This process sometimes requires coordination between various departments and

is a difficult task.
4. This process requires approval and support from top senior management.

5. Always comparing the actuals with a budget is detrimental to employees’

motivation.
Limitations

1.The future is unpredictable, so a budget always does not guarantee a smooth

future for an organization.
2. Mostly usage of past recorded numbers

3. Ignores demographics and many other economic factors
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4.Government policies and tax reforms are not always predictable

5. Natural events like rain, monsoon, drought and other uncontrollable factors
affect an organization’s actual performance, which cannot be considered for the

budget.

Important Points to Note

. Any foreseeable revenue or expenses not included previously should be
included in the budget.
. The control functions should not be extreme to put personnel under

pressure. If it is, there is need to change situation.

. The standards should be revised periodically.

. Any change must be informed to all the stakeholders immediately or in
advance.
. The change in production, sales, or any function within the organization

will impact the control functions.

3.Answer the questions.

1. Why do budgeted numbers often need revision?

2. It is time-consuming, isn't it? Why?

3. Does budget always guarantee a smooth future for an organization? Why?
4. What can affect an organization’s actual performance?

5. Should personnel be controlled under pressure?

6.What should be revised periodically?

7.Any change must be informed to all the stakeholders, mustn’t it?

8. What will impact the control functions
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4. Translate into Russian. Think of your own examples.

needs people and resources, requires coordination, requires approval and support,
detrimental to employees’ motivation, guarantee a smooth future, ignores
demographics, affect an organization’s actual performance, inform all the

stakeholders;

5. Match the words to make up phrases. Write down your own examples.

1. require a.

demographics
2. guarantee

b. resources

3. inform
c. future
4. ignore
d.
5. affect
performance
6.1 t
impac .
7 need coordination
8.revise f.
stakeholders

g. standards

h. functions

6. Complete the sentences with a proper word.

Production, standards, expenses, approval, coordination, revision
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1. Budgeted numbers often need .... as future prediction is difficult

2. This process sometimes requires coordination between various departments
3. This process requires approval and support from top senior management

4. Any foreseeable revenue or ... should be included in the budget

5. The... should be revised periodically

6. The change in ... within the organization impacts the control functions

7. Read the statements. Find out whether they are true or false. Correct the

false ones.

[S—

. Budgeted numbers don't need any revision

\S]

. Budget sometimes requires coordination between various departments

(98]

. Comparing the actuals with a budget is useful to employees’ motivation.

4. Budget always guarantees a smooth future for an organization.

W

. Natural events affect an organization’s actual performance

6. The control functions should put personnel under pressure

o

. Get ready to discuss main disadvantages of budgeting.

9. Discuss the following statements, use appropriate phrases to agree or

disagree. Prove your ideas.

1. Personal budgets are extremely useful in managing an individual's or family's

finances over both the short and long-term horizon.

2. Do you want to save money? Set financial goals.
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3. The importance of budgeting cannot be understated

4. Almost everyone can benefit from budgeting

10. Give a sketch of your budget project. Use the following plan.

1. The idea of the project and its justification (theory, problem, relevance).
2. The purpose of the project.

3. Project objectives.

4. Means of implementation.

5. Implementation steps.

6. Possible problems.

7. Predicted result

UNIT 4. Primary Financial Statements in Divisions of Logistics of MIA
Lesson 1

1. New words to memorize.

Invoice cyeT

Order (31.) mopyueHue

Cash receipt KaCCOBBIN TOBapHBIN YEK
A seal nevyaThb

A unit (31.) equHMIIA

A measurement U3MEpPEHUE

Signatures of officials MOJANKUCH PYKOBOAUTENEH
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2. Read and translate the text.
Primary financial statements

Every company, every institution, organization, subject of business use
primary financial statements. These statements are basic for any financial activity.
They contain:
- Name of statement;
- Date of filling;
- Units of measurement;
- Units of monetary; QR- code
- Signatures of officials.

Primary financial statements are performed in paper version and in electronic
version. The seal is not compulsory. There are no unified forms for primary
statements. The versions may vary. Every company chooses its own form. All
these statements ensure the payments. Usually, the statements are prepared by
vendor. All the rules are regulated by part 2, Article 9 402 — FL.

The customer may use cash, card, and bank transfer for payment. The latest
one needs payment order.
Information about the statements may be checked in tax service.
3. Answer the questions.
Who uses primary financial statements?
What do they contain?
How may the statements be performed?
May the versions vary?
What do these statements ensure?
Who prepares the statements?
How may a customer pay?
What does bank transfer need?
How do you usually pay?

Where may you check information about the statement?

59



4. What statement is used:

- By payment for mobile service?

- By payment in Metro (cash and carry)?

- By payment in bank with transfer?

5. Find English equivalents

[IpousBoauTh OIIATy; OIUTAYMBATH HAIWYHBIMH; OIUIAYMBATh KapTOW;
OaHKOBCKHI MEpeBO/I; euHbIe (POPMBI U TIpaBUiia; CBOM COOCTBEHHBIE; ITEYaTh U
MOJIMMACh, BCE TMpaBwWjia peryaupyroTcs denepanbHbIM 3aKOHOM; CTaThsi 9,
4acTh 2.

6. Complete your own form of:

- payment invoice;

- payment order;

-cash receipt.

7. Explain the differences between:

- payment invoice and payment order;

- payment order and cash receipt;

- payment invoice and cash receipt.

8. Ask questions about primary financial statements

9. Discuss primary financial statements.

10. Retell the text (Ex. 2).

Lesson 2

1. New words to memorize.

Commodity invoice TOBapHasi HaKJIa{HasI

Transport invoice TpaHCIIOPTHAS HAKJIaHas

Commodity — transport invoice TOBAapHO- TPAHCIIOPTHAS HAKJIaHAs
Transportation of goods MepeBO3Ka TOBAPOB

To accompany cargo COMPOBOXATH I'PY3

A copy KOTIUS

Customs costs TaMO>KEHHbBIE PACXO/IbI
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Toll road costs oIiaTa Mpoe3ja Mo MiIaTHOMY y4acTKy

Bank details 0aHKOBCKHUE PEKBU3UTHI
A consignor Ipy300TIPABUTENH
A shipment OTrpy3Ka

A receipt MOJTyYeHHUE

A route MapuipyT

2. Read and translate the text.
Commodity, transport, commodity- transport invoices

Commodity invoices, transport invoices, commodity- transport invoice
are used in the work of transport company with producers by transportation of
goods. These statements are completed with the transport contract to accompany
cargo and to pay for transportation. Commodity invoice may be introduced in
some copies (if it is necessary). It depends on the form of the invoice. The fact
of shipment of goods for customer is announced in the commodity invoice.
Information about transportation is absent. Transport invoice ensures the
contract for transportation. Automobile transport is used mostly by transport
companies. Transport costs, custom costs, toll road costs are announced in the
transport invoice. Bank details, date of filling, signatures of consignor and
transporter are in the transport invoice. Commodity — transport invoice ensures
the process from the shipment of goods to the receipt of goods by the customer
by the transportation. The form of the commodity — transport invoice is called
1-T form. In consists of three parts:

- Information about the parts; number of the invoice; data of the filling;

- Information about the cargo;

- Transport information (type of lorry, the cargo, information about the
driver; the route).

All the invoices are regulated with Federal Law Ne259 — FL. The forms of
the invoices are established with the act of Government Ne2200 (21.12.2020).
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3. Answer the questions.

What are three types of accompanied statements?

What kind of statement is commodity invoice?

Is there information about transportation in commodity invoice?
What does transport invoice ensure?

Are the planes used for transportation?

What information is presented in transport invoice?
How is commodity — transport invoice called?

What do you know about its structure?

What legal acts regulate invoices?

Who establishes the act about the forms of the invoices?

4. Find English equivalents.

ConpoBoxkaaTh Ipy3; TOCTAaBKa TOBAPOB; OIIATa MEPEBO3KH TOBAPOB; HECKOIBKO
IK3EMIUSIPOB;, B  3aBUCUMOCTH OT (OpMBI  HAKJIQJHOW; TEPEBO3UTH
aBTOTPAHCIIOPTOM; JIOTOBOP MIEPEBO3KU; OaHKOBCKHE PEKBU3UTHI,
rPYy300TIPABUTENb U TPY30I0IydaTelib; AaTa 3aM0IHEHUS HAKIaHOM.

5. Translate the chain

Transport — mepeBO3UTh — MEPEBO3KHU — MEPEBE3CHHBIM

Regulate—ycraB — perynupoBathb

Establish — yupenurens — yupex1eHHBIHN
Ship — morpy3ka — norpy»eHHbI

6. Make up five sentences of your own using the words (ex. above)
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7. Fill in

Commodity invoice insures....

...... may be introduced in some copies.

The fact of .......... is announced in commodity invoice.
Transportation is presented with ......

........ consists of ... parts.

8. Identify the items

To accompany cargo

Bank details

Shipment of goods

The seal of the company

Customs costs

9. Ask your partner about the types of invoices.

10. Give one — minute talk about three types of invoices.

Lesson 3

1. New words to memorize.

Tax authorities HAJIOTOBBIE OPraHbl

To take the steps MPEANPUHATh MEPBI

Universal Transfer Document  yHUBepcaJlbHBIN NIEpPeIaTOYHBIA JOKYMEHT
To reflect OTpa)xxaTh

The features (311.) 4epThI
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Business address IOpUIUIECKUN apec
The warehouse CKJIaJI
MIR- model of intersectional relations MMB
2. Read and translate the text.
Universal Transfer Document (UTD)

The tax authorities also realize and accept the needs of the company and
have taken steps to make business process simpler. The result of this was the
creation of the universal transfer document.

Universal transfer document (UTD) ensures trade relations. UTD combines
the features of the acceptance certificate and the invoice. It reflects the trade
transactions e.g. «The goods have been transferred», « Works is completed», «The
service has been rendered» etc. For the shipment of the goods, the form «goods
are transferred» is used. UTD contains the features of commodity invoices,
transport invoices.

As a primary statement UTD contains such elements:

- A title;

- A date of filling;

- Name of organization,;

-Transaction information;

- Business address of the consignor;

- The address of the warehouse where the cargo is located;
- Responsible officers; their signatures.

Universal form of UTD is replaced in application to instruction of FTC Ne
MIR-20-3/96 (21.10.2013). Electronic version is NeMIR- 7-15/820(19.12.2018).

The contactor completes UTD and the customs confirms receipt of goods

or services. UTD reduces document flow and saves time.

3. Answer the questions:
What organization has taken the steps to make business process simpler?

What was the result of this attempt?

64



What does UTD ensure?

What does UTD combine?

Which forms of transactions does UTD reflect?

Which form is used for the shipment?

There are elements of primary statements in UTD, aren’t there?
Is universal form of UTD replaced in instruction of FTC?

Who completes and confirms UTD?

What are the advantages of UTD?

4. Make up word combinations. Translate them.

House (ware; green; keeper; wife);

Place (hiding; market; fire);

Ship (citizen; clerk; master; member).

Write down five sentences to use new word combinations.
5. Identify the items

- a bank transfer;

- a contactor;

- a signature of the official;

- a feature of statement;

- a filling of the invoice.

Ask questions using the identified items.

6. What item is identified?

There are some types of vehicles used by the promotion of goods.
There is an employer who manages the organization.

There is a process of exchange of money for goods and services.
There is a place where goods are stored.

There is financial statement to ensure trade relations.

7. True or false? Correct false statements.

Some managers are responsible to sign financial statements.
Automobile transport is widely used in transportation of goods.

Universal Transfer Document has some certain features.
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Every invoice contains the data of filling.

Goods are stored in the warehouse.

8. Match the synonyms:

A transfer; a feature; a filling; an invoice; certain; universal; to be stored; to
contain; a promotion; a contract.

9. Discuss the types of transfer statements with your groupmates.

10. Explain your opinion about importance of UTD.

Lesson 4

1. New words to memorize.

Certificate of completed works aKT MpreMa BhINOJHEHHBIX padboT

A bargain clenka

A contractor (311.) MOJIPSITIUK

In tax and accounting B HAJIOTOBOM M OyXTaJITEPCKOM yUeTe
To inspect the results MIPOBEPUTH PE3YIbTATHI

A real estate object O00BEKT HEJIBXKMMOCTH

Renting out of real estate apeHia 00beKTa HEJIBIXKUMOCTH

Performance — acceptance of work results act akT npuema — nepenauu paboT
2. Read and translate the text.

Certificate of completed works (in Russian KC-2) is a primary statement
ensuring performance of works from contractor to customer. This statement
ensures a bargain between the customer and the contractor. The Certificate is the
basis for reflection in tax in accounting. The contractor performs work; the
customer inspects the result of the work and signs the Certificate of completed
works. It does not ensure the payment for work (in Russian — KC-3). The
Certificate of completed works must be completed by:

- Construction of a real estate object;

- Construction of enterprise;

- Renting out of real estate;

- Works under the Construction Contract.
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In other cases, the Certificate is not compulsory. There is no universal form
for the Certificate. State Committee of Statistics recommends certain form for the
Certificate (Instruction Nel100 (11.11.1999)). Certificate of completed must be
reflected in accounting (Regulation of Ministry of Finance Ne(02-07-
05/25971(01.04.2020)). According to the Regulation the Certificate is completed
by the contractor. The obligations of the parties are specified when signing the
service agreement.

Performance — acceptance of work results act is signed by both parties. The
date (month, year) is put down by the official.

The customer may accept the Certificate and complete the payment during
5 days. If there are the quality claims by the customer the act of the improvements
will be completed.

3. Answer the questions

When is the Certificate of completed works completed?

What kind of statement is the Certificate of completed works?
How are the parties of this statement called?

What does this Certificate ensure?

Where is the Certificate reflected?

What is the task of contractor?

What is the task of customer?

How is the Certificate called in Russian?

What official Documents recommend the form of the Certificate?
What may customer do during 5 days?

Do the parties have mutual obligations?

Who signs the Certificate?

4. Find English equivalents
[Moapsimunk; KC-2; KC-3; B3anMHBIC 0053aTe/IbCTBA; IEPBUYHBIN JIOKYMEHT; B
TEUEHUE TSATU JHEH; COCTaBUTh U TMOJANMMUCATh AaKT BBIMOJHEHHBIX pPadoT;

O3HAKOMMUTBCA C KAUCCTBOM, UMCTh IIPCTCH3UK,; CTOPOHBLI ITPHU COCTABJICHHUH dKTa.
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5. Find Russian equivalents
Construction of a real estate object;
construction of enterprise;

renting out of real estate;

works under the Construction Contract;
during 5 days;

task of contractor;

regulation of Ministry of Finance;
when signing the service agreement;
in other cases;

universal form.

6. Identify the item

- the Ministry of Finance

- signing the service agreement

- areal estate object

- work results

- according to the Regulation

- the quality claims

- i1s not compulsory

- reflection in tax in accounting

- State Commiittee of Statistics

- the payment for work.

7. Ask your groupmates about:

- primary statements;

- the wide spread statements;

- universal forms of statements;

- structure of primary statements;

- typical invoices;

- features of invoices;

- mutual obligations of the parties;

- responsibilities of the officials.
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8. Make up the table of primary statements. Use it to tell about these
statements.
9. Discuss the similarities and the differences of primary statements.

10. Express your opinion about primary statements.

UNIT 5. MIA of Russia as a Customer by Trade
Lesson 1

1. New words to memorize

To identify ONPENENATh, UICHTU(PHUIIMPOBATH
To be regulated peryJIMpoBaThCs

A century BEK

Nutrition MPOJOBOJILCTBHE

A merchant KYyTIeI

Office of Control Affairs KaHLEISIPUS MOJPSAIHBIX €T
Apriority B [IEPBYIO OYEpE/Ib

For army and navy JUTsl apMud U (piioTta

Gofmaster COTPYIHHK KaHIIEISIPUU TOIPSIHBIX JEIT
To save YKOHOMUTh

Treasury Chamber Kazennas nanara

Reference prices «CTIPABOYHBIC 1ICHBI»

2. Read and translate the text
Some Facts from History of State Procurement

State procurement may be identified as a system of relations between the
customer the vendor (the contractor). As a part of economic activity state
procurement is some centuries old. The first official act of state procurement
activity was signed by tsar Alexei Michajlovich on the 7% of July 1655. Nutrition
providing activity for Smolensk was ordered with that document. All the
merchants got not only profits from that contract, but also personal benefits from

the state.
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Peter the Great established special service to regulate and coordinate state
procurement — office of Contract Affairs. Public tenders were announced that time
firstly in our country. The contracts for army and navy were a priority. There were
special officers, Gofmasters, controlling the benefits from the state procurement.
The task of their activity was to save state budget. Their salary was composed
from saved money: half a kopeck from each saved ruble. By Catharine the Great
was established Treasury Chamber to provide the trades. This state body
controlled the contracts maximum for 10000 rubles. The contracts more than
10000 rubles were controlled by Catharine the Great personally.

In XIX century, tsar Alexander the 1% adopted «The Regulation about
provision for army». That regulation contained reference prices for state
procurement. It was used until 1917.

3. Answer the questions.

[s state procurement young as social item?

How are the participants of state procurement called?
When was the first official act of state procurement?
What was activity of Gofmaster?

Who established Treasury Chamber?

What document did Alexander the 1 accepted?

4. Find the odd word

Procurement, trade, contract, message

To regulate, to supply, to provide, to calculate

A hall, a palace, a Chamber, a house

Catharine the Great, Alexander the 1%, Peter the Great, Bonaparte
An agreement, a contract, a treaty, an appointment

5. Fill in and translate the sentences

State procurement in Russia is... ... old.

Tsar ...... signed he first official act about state procurement in ...
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According that act provision was going to ...

Merchants got not .... only, but also...

Gofmasters were dealing with...

6. Agree or disagree with the statements. Correct the false ones.

State procurement is new item in social life.

The first official act about state procurement was signed by tsar

Alexei Michajlovich.

There are a lot of participants in state procurement.

The contract is compulsory in state procurement.

Gofmasters were dealing with state budget.

7. Find definitions to the items:

State procurement; nutrition; weapon; to provide army and navy; reference prices;
the participants of the trade; a priority; official act; to be signed; a merchant.

8. Match the synonyms. Use vocabulary.

The trades people to support
A country to control
An agreement to deal
To accept weapon
Food and drinks a state
Guns and explosives nutrition
a cost a contract
To act the merchants
To inspect to adopt
To supply a price
9.Speak about:

- the participants of state procurement;

- the first official fact of state procurement in our country;
-the activity of Gofmaster;

- state procurement for army and navy.

10. Retell the text about the history of state procurement.
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Lesson 2

1. New words to memorize
Executive power

To belong to

State bodies

The structure of MIA

To supply

The needs

Self-governing

To carry out

State policy

Sphere of property relations
The task

To enforce

Fire supervision

Vet supervision

Sanitary supervision

The measures

Bidding processs

2. Read and translate the text

VCIIOJTHUTENbHAS BJIACTh
IPUHAIEKATh K Y-JI.
roCyZapCTBEHHBIE OPraHbI
cTpykTypa MB/]
CHa0KaTh, ITOCTABJIATh
NOTPEOHOCTH, HY Kb
caMOyIpaBJIsIeMbIN
OCYLUECTBJIATh, IPUBOINUTH
roCyJ1apCTBEHHAs MOJIUTUKA
cdepa UMYIIECTBEHHBIX OTHOIICHUN
ek, 3a7a49a
IPUMEHSTh, BHEAPSThH
MIOYKapHBIA HAA30P
BETEPUHAPHBIN HAA30D
CaHUTApPHbIM  HAJ30p
MepBI

IpoIIecC MPOBEICHUS TOPIOB

MIA as a State Customer in Bidding Process

Ministry of Internal Affairs belongs to executive brunch of power. This
ministry is a part of system of state bodies. There is a certain Department in the
structure of MIA aimed to supply its material, technical, and medical needs,
Department of Logistic. The head of Department is Lieutenant General of the
Internal Service Alexander Jurchin. Department is a self-governing subdivision
in the structure of MIA of Russia. The staff of Department of Logistic carries out

state policy in the field of property relations of MIA. Main tasks of this

Department are:
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to enforce laws in the field of property relations in MIA of Russia;

to organize public procurement for the needs of the organs of MIA of Russia;
to carry out planning, constructing, and reconstructing of the objects of MIA
of Russia;

to carry out fire supervision, vet supervision, and sanitary supervision in the

organs of MIA of Russia;

There are some main functions of Department of Logistic:

to realize state policy in the field of procurement in the system of MIA of
Russia;

to propose the measures for effective activity of Department of Logistic;

to organize monitoring of activity of the staff;

to create the propositions for the Legislature about activity of Department of
Logistic;

to complete the base of laws and regulations for Department;

to maintain law supervision in Divisions of Logistic of MIA;

to control bidding process;

to control the budget;

to control tax relations in the organs of MIA;

to control contracts;

to train and recruit the staff;

to coordinate relations with state bodies.

Department of Logistic is situated in Moscow in Petroverigskrij lane,6-8-

10, Russia.

3. Answer the questions.

What branch of state power does MIA of Russia belong to?

What is the name of certain Department in the structure of MIA of Russia?

Who is the head of Department of Logistic of MIA of Russia?
What is his rank?

What are main tasks of Department of Logistic?

What are its main functions?
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What is official address of Department?

4. Read the statements. Are they true or false? Correct the false ones.

MIA belongs to judicial brunch of power.

MIA has not a structure.

Department of Logistic is self- governing.

Department of Logistic completes the base of laws and regulations.

Department of Logistic controls the contracts in MIA.

5. Read the statements and compare activity of Russian and British police.

- The UK doesn't have national police. Instead, there are 52 separate police forces
in the counties.

- Police forces in the counties are governed by local authorities.

- Logistic support in police forces of the UK is financed from local finance.

- The uniform of police forces in the UK differs from each other.

- Metropolitan police of London is governed by Home Office.

6. Find the synonyms for:

A state body; an aim; a head; self — governed; to carry out; supervision; sanitary;
to act; a contract; to be located.

7. Complete and translate word combinations:

-Ministry (BHYTpeHHUX J1e]1; 000POHBI; HHOCTPAHHBIX JIEN);

-the needs (¢puHaHCOBBIC; MaTEpUATbHBIC; METUIIMHCKHE);

-the field of (roczakymnok; ¢UHAHCOB; UMYIIECTBEHHBIX OTHOIIECHUN);

-to control (Tu1aHUPOBaHUE; CTPOUTEIBCTBO; PEMOHT);

-a base of (1aHHBIX; 3aKOHOB ¥ HOPMATHUBHBIX AKTOB; OTIICYATKOB ITAJIBIICB).

8. Find the opposites for:

Effective; legislative; object; constructing; dependent; to propose; the general;
power; legal; certain.

9. Discuss the activity of Department of Logistic.

10. Give three - minutes talk on activity of Department of Logistic of MIA of

Russia.
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Lesson 3

1. New words to memorize

Import substitution MMIIOPTO3aMEIlleHHE

High — tech BBICOKOTEXHOJIOTUYHBII
Subject of small enterprise Majioe IpeanpusITue
Forgery MOILLIEHHUYECTBO
Cartelization KapTeau3aius

To prevent MPEIOTBPAILATh

To suppress MOJIABJISITh

To guarantee rapaHTHPOBATh

Social security colaabHOe oOecrieueHue
Competitive ability KOHKYPEHTOCTIOCOOHOCTD
To maintain MO/ICP>KUBATh

The orders 3aKa3bl

The contract enforcement BBITIOJTHEHUE KOHTPAKTa
As a whole B LIEJIOM

2. Read and translate the text

Activity of Department of Logistic of MIA in State Procurement

State procurement for state and municipal needs is a certain field of law-economic
relations in the country. State procurement is very important for development of
Russian economy, for ensuring of import substitution, for motivating of producing
of high — tech equipment, goods and services, for support of subjects of small
enterprises.

Efficiently organized system of state procurement is basic element of
management of state finance. It guarantees the growth of effectiveness of social
security of the citizens and competitive ability of Russian goods and services. The
state budget is controlled during the trades. Department of Logistic of MIA of
Russia maintains laws in bidding process. Any attempts at fraud, cartelization,
corruption must be prevented and suppressed.

Main problems facing Department of Logistic in state procurement are:
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- Placing orders;
- Acceptance of goods, services, and works;
- Contract enforcement as a whole.
Such problems are typical by the realization of contract system for different
countries. Training of the specialists for logistic subdivisions is aimed to solve the
problems.

3. Answer the questions.

What relations does state procurement reflect?

Why is state procurement important?

What kind of goods are called high — tech?

Name some subjects of small enterprises in Russia.

Is state procurement an element of management of state finance?

What attempts must be prevented and suppressed?

What problems facing Department of Logistic of MIA of Russia do you know?
Are these problems unique or typical?

4. Give English equivalents

DKOHOMHKO—TIPABOBbIC ~ OTHOIICHMUS; ocobass  cdepa; obecrieueHne
UMITOPTO3aMECIIICHHSI;  MOTHBAIIMS  Pa3BUTHUS  TMPOM3BOJACTBA;  BBICOKO
TEXHOJIOTHYECKOe 000pyT0BaHHE; CYOBEKThI MaIoro On3Heca; 6a30BbIi 2JIEMEHT;
YIPaBJIICHHE TOCYJAapCTBEHHBIMU (PMHAHCAMU; rapaHTHUPOBaTh 3PPEKTHBHOCTH
COIMAIILHOTO 00€CTICUCHUS TPaKIaH; JeNapTaMeHT YIIpaBICHUS ThUIA.

5.Give Russian equivalents.

To maintain law and order; small enterprises; motivating of producing; efficiently
organized system; growth effectiveness; placing orders; acceptance goods and

services; contract enforcement; must be prevented and suppressed.
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6.Complete the sentences

State and municipal needs include ..., ..., ...

State procurement is very important for ..., ..., ...

High — tech equipment may be introduced with ..., ..., ...

... are maintained by police forces.

Any attempt of ... and... must be prevented and suppressed.

7. Find synonyms for:

Municipal; development; high — tech; to support; a subject; an enterprise;

organized; basic; to guarantee; the citizens.
8. Find opposites for:

Import; efficient; social; unique; a cartel; basic; certain.
9. Discuss the tasks of Department of Logistic of MIA of Russia.
10. Give one — minute talk about the activity of Department of Logistic of

MIA of Russia.

Lesson 4

1.New words to memorize.

An agreement COTJIaIlIeHue, TOTOBOP

Mutual B3aUMHBIN, 0000 IHBIN

Obligations o0s13aTeNbCcTBA

Introduction npeaMmOyJia, BBEICHHUE

Facultative HeoOs3aTeNbHBIN

Payment terms CPOKH OILIATHI

Duration CPOK JEHCTBUS

Draft contract IIPOEKT KOHTpAaKTa

Unified Information System ENC (enunast vHpOpMaImoOHHAs CHCTEMA)
Closed trades 3aKPBITHIE TOPTH
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2. Read and translate the text.
Contract

Contract is a type of business agreement. Contract contains mutual
obligations from each participant. Basic structure of any contact was formed for
any type of contract. It consists of three main parts:

- Introduction;

- Subject;

- Rights and obligations of the parts.
Some facultative element may be added:
- Price and payment terms;

- Responsibilities of the parts;

- Duration of the contract;

- Information about the parts.

Usually, contracts are performed in two versions.

There is difference between contract and state contract. There are the needs.
State contact must be completed in certain form. Notification and draft contract
are published in unified information system (UIS) and in the trading platform.
Organs of MIA of Russia take part in closed trades only. Typical forms of the
contracts are placed MIA divisions in UIS library of basic contracts.

Bidding process is regulated with Federal Law 44-FL. Budget institutions
and state corporations complete the contract only, not state contracts. Among all
the contracts there are no any for transport activity.

3. Answer the questions.

What is a contract?

What does a contract contain?

What are compulsory parts of contract?

What are facultative parts of contract?

Is contract and state contract the same or different?

What is UIS?

What do you know about the types of trade for MIA of Russia?
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4. Make up and translate word combinations.
Contract (TOproBslii, rocy1apCTBEHHBIN, MHOTOCTOPOHHUN );
Obligations (B3auMHbI€, TOANUCAHHBIC, OJHOCTOPOHHUE)
Mutual (Bbirona, 00s3aTeNbCTBA, MPOTUBOPEUNS)

Trades (371eKTpOHHBIE, OTKPHITHIE, 3aKPHITHIC)

Activity (3aKkOHHasi, TOproBas, peryjupyemas).

5. Identify the items

Compulsory causes;

Mutual obligations;

Structural parts;

Electronic platform,;

State contract.

6. Complete the dialogue

-...7

- It is a type of business agreement.

-7

- It consists of three main parts.

- Do you know these parts?

-Yes, I do. Theyare ..., ...,...

......

-It is Federal Law 44-FL.

7. You have completed the dialogue. Could you recite it by heart?

8. Ask questions about the items of the contract.

9. Divide into two groups. The first one completes contract for subject of
small business. The second one completes state contract.

10. Express your opinion about contract (ex.2).
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UNIT 6. Russia in International Trade System
Lesson 1

1. New words to memorize.

A field of commodity cdhepa npUMEeHEHHS TOBapa

An exchange of labor products oOMEH IPOIyKTaMu Tpy/ia
Rather JIOBOJBHO, IOCTATOYHO
Division of labor paszesieHue Tpyaa
Monopolistic industries MOHOIIOJIMCTHYECKUE OTPACIIH
Predominant development npeobJiaaroIiee pa3BUTHE

In comparison B CPaBHCHHUH

The share of manufacturing industrynosns oOpabarbiBaromieil MpOMBIIIIIEHHOCTH

Inter- trade service MEKOTpaciIeBOe 00CITyKUBaAHUE
Intra-company BHYTpU(PUPMEHHBII

An expansion pacumpeHue

Competitive KOHKYPEHTHO CITIOCOOHBIN

An access JTOCTYII

Ultimately O6eccropHO, OJTHO3HAYHO

2. Translate the text.
International Trade

International trade is a field of commodity, field of exchange of labor
products between sellers and customers of different countries. The history of
development of international trade is rather long. There are three main stages;

-Initial stage of international trade (from the XV century to the first half of
XIX century). It may be identified separate existence of elements of international
trade. Division of labor began to appear. The UK, France, Belgium, Spain started

industrial growth.
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- Industrial stage of international trade (from the second part of XIX century
to the second half of XX century). Appearing of new brunches of production,
industrializing, development of monopolistic industries, appearing international
trade system are typical for that stage. The USA became leading position. Western
European countries became strong after the World War II. Soviet Union (as a
successor of the Royal Russia) became an active participant of International trade
system.

- Modern stage of international trade (from the second half of XX century
until nowadays). High rate of development of international trade is typical for this
period. Main trends of modern international trade are:

1). the predominant development of trade in comparison with the branches
of material production and the world economy as a whole;

2). growth of the share of manufacturing industry in the structure of
international trade;

3). strengthening of the influence China in world trade;

4). Transformation of intra-company trade into the most important direction
of inter — trade;

5). The expansion of inter — trade services.

International trade has key position in the global economy; prices are
affected by global events (especially oil prices). International trade allows the
countries to expand their markets and gain access to goods and services that might
otherwise be unviable domestically. As a result of international trade, the market
becomes more competitive. This ultimately leads to more competitive prices and
provides competitive prices and cheaper products for the customer.
3.Answer the questions
What kind of field is International trade?

What are the participants in international trade?
Is history of international trade rather long?
How many stages are there?

How is 1nitial stage identified?
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What was typical for industrial stage?

What are the features of modern stage?

Do you know trends of modern stage?

Does international trade have key position in modern economy?

What does international trade allow the countries?

What are the results?

What is a profit for customer?

4. Give Russian equivalents:

Key position; initial stage; to allow the countries; rather long; field of commodity;
competitive prices; the predominant development; more competitive; to gain
access; as a whole.

5. Complete and translate word combinations:

Key (stone; position; detail);

Competitive (model; suit; service);

Field of (criminalistics; commodity; payment);

Stage (preliminary; industrial; modern).

Use new word groups in completing of 5 sentences.

6. Every stage in development of world trade was caused by some historical
or technical events. Choose the proper one:

-Initial stage was caused by (great geographical discoveries; epidemics; wars);
-Industrial stage was caused by (invention of steam engine; technical progress;
appearing new brunches of industry);

-Modern stage was caused by (invention of computer; flight into space;
pandemic).

7. Refresh your knowledge of Russian history and complete the sentences.
Russia was ...country in XV century. ... was leading, not industry.

The firs plants and factories in Russia appeared in ... in XVIII century.

The Demidoffs and the Stroganoffs were the first Russian...

.es ..., ... Were created by Peter the Great in Russia.

Russian merchants introduced Russia to the world market with ..., ..., ...
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8. Compare the role of our country in world trade in different centuries (since
the XV one). Explain your opinion.
9. Ask questions about the stages of development of international trade.

10. Give three — minute talk on international trade and role of Russia.

Lesson 2

1. New words to memorize.

Related ( 3711.) CBSI3aHHBIX C

To carry out OCYILIECTBIISTH

That 1t lacks KOTOPBIX HE JJOCTAeT
In abundance B M300MJIUH

Tend to raise HEU3MEHHO MOBBIIIAET
Standard of living YPOBEHbB KU3HU
An effort YCUJIHE

Digital 1dpoBoi

More simply IIPOILIE TOBOPS
Unlike B OTJIMYHE

Key difference OCHOBHOE pa3Indue

2. Read and translate the text.
Export and Import in International Trade

International trade and related financial transactions are usually carried out
in order to provide the nation with goods that it lacks in exchange for those that it
produces in abundance; such transactions, functioning in combination with other
economic policies, tend to raise the standard of living of the nation. International
relations are associated with efforts to promote freer trade between countries.

One of the types of international trade is import trade. Import is a product

or service purchased in one country and produced in another country. Import trade
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means buying goods and services from abroad because they cannot be produced
in sufficient quantities or at a competitive price in one's own country.

As import counterpart, export trade is a type of international trade based on
the sale of locally produced goods and services to foreign countries. This is
considered the complete opposite of import trade. Exports are important for the
modern economy because they offer customers and firms much more markets for
their goods. One of main functions of diplomacy and foreign policy between
Governments is to stimulate economic trade, stimulate exports and imports in the
interests of all trading parties.

One of the modern means of payment is crypto currency. The concept of
crypto currency refers to digital types of currency. It was created and implemented
as a mean of payment using cryptographic methods, mainly based on block chain
technology. Initially «coins» were issued in electronic form literally due to
mathematical calculations. More simply crypto currency is an artificial payment
system, equivalent to real money, having an official rate.

The term «crypto currency» was first discussed in 2011, starting with the
publication of Forbes magazine. Since then, the name of currency has become
firmly established and is applied to coins (literally coins) that do not have
expression in the term of paper banknotes of coins made of metal. This type of
money exists in digital field exclusively. Unlike other electronic payment
systems, crypto currency appeared initially without the participation of real
money. To become the owner of certain amount of crypto coins it is enough to
connect to the service of their creation, to become a member of a unified mining
network and to wait for «earning». This is the key difference between crypto
currency and real money.

3. Answer the questions.

What is the main goal of international trade?

Why is international trade important for the nations?
What types of international trade do you know?

What is import?
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What does import trade mean?

What is import counterpart?

What does export mean?

Is export trade important for the country? Why?

What is one of the main functions of diplomacy and foreign policy?

Is bit coin one of the modern means of payment?

What field does the concept of crypto currency refer to?

It was created and implemented as a means of payment using cryptographic
methods, mainly based on block chain technology, wasn't it?

Is crypto currency an artificial payment?

Is crypto currency like other electronic payment systems?

How can anyone become the owner of certain amount of crypto coins?
Is there the key difference between crypto currency and real money?
4. Identify the items.

- international trade;

- in abundance;

- the standard of living;

- import trade

- export trade;

- Crypto currency.

5. Give English equivalents.

DKOHOMHYECKAs TIOJUTUKA;, YPOBEHb >KM3HHU; IMOKYIIKA TOBApOB 3apyOE:KHBIX
IIPOU3BOIMUTENICH; MTPOIaXka TOBAPOB OTECYECTBEHHBIX MTPOU3BOAUTEIICH; CTOPOHBI
TOPTOBBIX C/ICJIOK; COBPEMEHHOE CPEJCTBO IIaTexel; mnudpoas chepa; MeTo bl
KpunTorpaduu; UCKYCCTBEHHBIH IJIATEXK; BiaIeICI] KPUIITO BaTIOTHI.

6. Find the synonyms.

Trade; the standard of living; the counterpart; digital field; artificial; an owner.
7. Find the opposites.

National; buying; foreign; producers; goods; modern; digital; artificial.
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8.Ask your groupmates about international trade.
9. Discuss the role of bit coin in international trade.

10. Give three — minute talk on export and import trade.

Lesson 3

1. New words to memorize

cleaved with axes pa3pyOJIeHHBII TOOpaMHU

spear on the coin reverse KOIbe Ha peBEPCE MOHETHI (CTOPOHA C HOMUHAJIOM )
implement BBOJUTH, OCYLIECTBIATH

the exclusive authority  ucKJIFOUMTENBHAS BJIACTH, TOJTHOMOYUS

to issue BBIITYCKAaTh

2. Read and translate the text

Every Russian citizen knows name of national currency. It is called« rubley.
It has been used in our country since the 13™ century. Ruble's name originates
from the verb «to chop» (in Russian rubit’). The first silver coins were really
cleaved with axes. Early 16™ century the main currency unit in Russia was the
silver kopeck (after St. George’s spear on the coin reverse which was Russian
symbol of the grand ducal power). A currency symbol was used for the ruble
between the 16th century and 18" century. The symbol consisted of Russian
letters «P» and «¥Y» (written on top of it). The symbol was placed over the amount
number it belonged to. The symbol, however, fell into disuse by the mid- 19®
century.

In the 17% century Peter the Great implemented some silver coins of various
denominations (one-ruble, fifty-kopecks, ten — kopecks, and other coins). The
history of Russian banknotes goes back to the reign of Catherine the Great. Paper
banknotes of twenty-five, fifty, seventy-five, and one hundred ruble were
produced at Krasnoselsk factory.

Until 1917 were used gold coins (denomination of ten rubles).The gold in

those coins was of the highest quality (so called pure or red gold). The coins were
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called chervontsy. Profile of the last Russian Emperor was on the reverse of the
coin.

In the post — revolution period banknotes of Soviet Russia were issued. As
for modern Russian banknotes, all of them have illustrations of famous
monuments and viewpoints from Russian cities (Krasnoyarsk, St. Petersburg,
Moscow, Khabarovsk, Yaroslavl, and Arkhangelsk).

Russian ruble is divided into 100 kopecks. The Central Bank of Russian
Federation has the exclusive authority to issue banknotes and coins in our country.
Banknotes are issued in denomination ranging from ten to five thousand rubles.
Coins are denominated in values land 50 kopecks, and there are also coins
ranging in value from one to twenty — five rubles.

A partner of Russia in «ruble zone» is the Republic of Belarus. Payments
in rubles are typical for Russian transactions since 2022. This process strengthens
economy of Russia.

3. Answer the questions.

Do Russian citizens know national currency?
Since when has national currency been used?
What verb does Ruble's name originate from?
Were the first coins from silver or from gold?
What was the main currency in the 16" century?
What were denominations of Russian currency by Peter the Great?
When were the banknotes produced?

What coin was called «chervonets»?

Are modern banknotes illustrated?

What is ruble divided into?

What is the main bank of Russian Federation?
Which countries are involved in «ruble zone»?
Are payments in rubles actually nowadays? Why?
4. Complete the sentences.

Ruble’s name originates from the verb ...
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Early 16" century the main currency unit in Russia was ...

The history of Russian banknotes goes back to the reign of....

The coin contained gold of the highest quality (so called pure or red gold) was...
Russian ruble is divided into....

Banknotes have illustrations of.....

The Central Bank of Russian Federation has the exclusive authority.....

A partner of Russia in «ruble zone is.....

5.Find English equivalents.

HanuonanbHas BastoTa; KaxJIblil pOCCUSIHUH; Ha3BaHUE MMPOUCXOINUT; pyOIEHBII
toropoM; ['eopruii IloOemoHocel; CHUMBOJ  BEIMKOKHSIKECKOW  BIIACTH,
cepeOpsiHbIE MOHETHI Pa3HOr0 HOMHHANA, OyMakKHbIE JICHBIH, HWMEIOT
M300paKEHUS; OIjIaTa B pyOIIsiX.

6. Find the synonyms.

Currency; gold and silver; red gold; chervonets; is divided into; exclusive
authority; are denominated in; «ruble zoney; illustrations of famous monuments
and viewpoints; were produced.

7. Find the opposites.

A coin; to strengthen; famous; ruble; to be divided; nowadays; the last; the
highest.

8. Ask your groupmates about Russian national currency.

9. Discuss the role of national currency.

10. Give three — minute talk on Russian currency.
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